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MATHS

BOOKS - DEEPTI MATHS (TELUGU ENGLISH)

DEFINITE INTEGRATION

SOLVED EXAMPLES

o x cos ~1(z) B
1. sin + dr =

-1 v1i—2z?2 1 —2?

Am/2

B. 7w

C.2mw

D.3m /2

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_y0aR5y2PcqEf

™/2 4sinz + 3
p [ i b,
0 sinx + cosx

A —

° Watch Video Solution

1
3./ z(1—2z)"%e =
0

A.1/130
B.1/132
c.1/321

D.1/130


https://dl.doubtnut.com/l/_y0aR5y2PcqEf
https://dl.doubtnut.com/l/_CrBmGDN3sXA2
https://dl.doubtnut.com/l/_kFG2UmVGZLMA

o Watch Video Solution

4./03[:c]dx _

Al
B.2
C.3

D.4

o Watch Video Solution

w/2
5./ sin’ zdx
0

A.14/35

B.8/35


https://dl.doubtnut.com/l/_kFG2UmVGZLMA
https://dl.doubtnut.com/l/_oxPCQt4rhs4K
https://dl.doubtnut.com/l/_DX5dWe38BXxX

C.16/35

D.26/35

° Watch Video Solution

6

2m xsin® z
6./ 5 dx =
o sin®z + cosbzx

AT

[\V]

N

o
,,;| A, »l=A

° Watch Video Solution

w/2 4
7./ 5+ cos:vzdm_
0 (4 + 5cosx)


https://dl.doubtnut.com/l/_DX5dWe38BXxX
https://dl.doubtnut.com/l/_Dcm6VFljJApV
https://dl.doubtnut.com/l/_wuWg30Yd1T0Y

@ >

0
gl,_. 11 [ SN

° Watch Video Solution

8./03(|a:| + |z — 1] + |z — 2|)dz =
A9/2
B.7
C.5

D.19/2

o Watch Video Solution



https://dl.doubtnut.com/l/_wuWg30Yd1T0Y
https://dl.doubtnut.com/l/_FWC6QCVvFu6O
https://dl.doubtnut.com/l/_Zaj1hVokkuz4

1 1 1 1
Q.Ltn_)oo ; + + + ....... + - —

A /4
B.log4
C.log2

D.log3

° Watch Video Solution

10.Lb19a3{ ! + 2 F o + n
1+ n? 1+ n? 1+ n?
A0
B.—1/2
c.1/2

D.none



https://dl.doubtnut.com/l/_Zaj1hVokkuz4
https://dl.doubtnut.com/l/_F075FGXFlWMY

l ° Watch Video Solution

3

11. The area bounded between the curves y = 2% and y = 2% is

Al/6
B.1/12
C.1/4

D.1/3

° Watch Video Solution

12. The area of the part of the circle 2 + 3? = 8a® and the parabola

y? = 2ax through which positive X-axis passes is

A4a2(37r+2>
' 3

B. 242 3r — 2
' 3



https://dl.doubtnut.com/l/_F075FGXFlWMY
https://dl.doubtnut.com/l/_0W1jJZwn9nWT
https://dl.doubtnut.com/l/_he6gNQjDSlk1

a?(3m — 2
c wBr—2)

2a%(3m + 2
o, 20°(3m +2)

° Watch Video Solution

- =
13. Area bounded by the curve 22/% + 4%/% = ¢?/% and O X, OY is

3ra’?
16

3mra?
8

7ra2

C'W

71'(12

D. —
16

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_he6gNQjDSlk1
https://dl.doubtnut.com/l/_r1v2bhsZlvkD

14. The area bounded by the curve y = (x — 1)(z — 2)(z — 3) and X-axis

lying between ordinates x=0 and x=3 is

° Watch Video Solution

EXERCISE 1A

2
1./ (322 + 4z + 3)dz =
0

A. 20

B. 22



https://dl.doubtnut.com/l/_g65sYn5nhGTP
https://dl.doubtnut.com/l/_FWF8OmjMhXut

C.25

D.30

o Watch Video Solution

w/4
2./ sec’ zdr =
0

Ae—1

B.1

D.2

° Watch Video Solution

w/2
3./ \/1 + sin2xdx
0


https://dl.doubtnut.com/l/_FWF8OmjMhXut
https://dl.doubtnut.com/l/_t80H7ct2xkCr
https://dl.doubtnut.com/l/_g3BccGmPrCSc

Al

C.\/2

D. 2

° Watch Video Solution

4.Thevalueof I = /W/2 (sinz  cos x)2dw is
0 v/1+ sin2z
A.O0
B.3
C.2
D.1

° Watch Video Solution



https://dl.doubtnut.com/l/_g3BccGmPrCSc
https://dl.doubtnut.com/l/_nsN8EVUOpkCF
https://dl.doubtnut.com/l/_rkcHKbiJ5QoL

L |
5./ dxr =
o 1+=z

A.log?2

B 11 2
-5 log
C.2

D.log3

° Watch Video Solution

1
6./ z dr =
o 14 z2

A.log?2

B 11 2
-5 log
C.2

D. none


https://dl.doubtnut.com/l/_rkcHKbiJ5QoL
https://dl.doubtnut.com/l/_oI2hoKkUzfAN

° Watch Video Solution

/2 cosz
7- —_dm =
0 1+ sinz

A.log2
B.1/2log2
C.2

D.none

° Watch Video Solution

1
1
s./ Ll -
1/2 4/1 — 22
Am/2
B. 'pi//3

C.nw/4


https://dl.doubtnut.com/l/_oI2hoKkUzfAN
https://dl.doubtnut.com/l/_HnBUqGELXFPt
https://dl.doubtnut.com/l/_bETp6S9aYPSg

D.7/4a

o Watch Video Solution

3
9./ _
V2/3 /4 — 922
A /6
B.m /12

Cn/24

D.7 /36

o Watch Video Solution

|
10./ dr =
-1 1—|—JZ2

AT/2


https://dl.doubtnut.com/l/_bETp6S9aYPSg
https://dl.doubtnut.com/l/_VPne6DjcT5MK
https://dl.doubtnut.com/l/_jOMPtCaBHgOd

B.m/3
C.rm/4

D.7/4a

o Watch Video Solution
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o Watch Video Solution



https://dl.doubtnut.com/l/_jOMPtCaBHgOd
https://dl.doubtnut.com/l/_ecllrBnPo5x2

1
12./ Vv1-— rldz
0

s
A.1—Z
™
B.1—§
s
C.g
T
D.Z

° Watch Video Solution

a

13. Evaluate/ a® — z%dz


https://dl.doubtnut.com/l/_V9NTxTCHQAJ7
https://dl.doubtnut.com/l/_mOfJ9ayQChpJ

° Watch Video Solution

57/6
14./ VA —4sin’t  dt =
w/6

A.O
B.2
C.1

D. none

° Watch Video Solution

3
15. The value of the integral / dz is
0 vVx+14+45z+1
A 11
" 15
14
B. —


https://dl.doubtnut.com/l/_mOfJ9ayQChpJ
https://dl.doubtnut.com/l/_lvUIzOHf0zmr
https://dl.doubtnut.com/l/_APAsjKTLPGy5

c2
)

D1+11 5
. 5log| =

° Watch Video Solution

16./14—xgdx
0 /1 — 28
Am/3
B.m /2
C.nm/4

D. 2w

o Watch Video Solution



https://dl.doubtnut.com/l/_APAsjKTLPGy5
https://dl.doubtnut.com/l/_LDXUdleucEjY
https://dl.doubtnut.com/l/_7KhUK1G5QISV

A /16
B.7w/4
C.m/2

D.7/8

° Watch Video Solution

w/4
18./ (tan’ z + tan’ z)dz =
0

A1
B.1/2
c.1/3

D.1/4

o Watch Video Solution



https://dl.doubtnut.com/l/_7KhUK1G5QISV
https://dl.doubtnut.com/l/_NuXdLOYO7Sur
https://dl.doubtnut.com/l/_Y0SMWpZd5b9o

20./1 (tan"ta)"

1/v3 14 2?

71.4

64

71.4

B. —
256

4

C.
1024

.0
" 64 x 1296



https://dl.doubtnut.com/l/_Y0SMWpZd5b9o
https://dl.doubtnut.com/l/_DcHLbVgsrBQ9

° Watch Video Solution

3 2
+1
21./ tan_lL + tan ! z dr =
1 (z2 +1) T

AT
B. 27
C. 4w

D.none

o Watch Video Solution

o
'S

w >

N

—~
o
S
|
—_
~


https://dl.doubtnut.com/l/_DcHLbVgsrBQ9
https://dl.doubtnut.com/l/_cpKURAkQKPuV
https://dl.doubtnut.com/l/_8hs2Jmpt2rZp

D.none

o Watch Video Solution

2/ o 1
23,/ sin(t/2) ,
1

TR
Am/2
B. 7w
C.1

D. nene

o Watch Video Solution

24,/2/”de:
1

/7 2

Al


https://dl.doubtnut.com/l/_8hs2Jmpt2rZp
https://dl.doubtnut.com/l/_WqlNGPbsDXbU
https://dl.doubtnut.com/l/_yuDC8qpAut2j

C.2

D.O

o Watch Video Solution

o dz
2 [ -
0 (w—l—\/:cz—l—l)
A.3/8
B.1/8
C.—3/8

D.—1/8

o Watch Video Solution



https://dl.doubtnut.com/l/_yuDC8qpAut2j
https://dl.doubtnut.com/l/_0WLy3ccJ00ZD

xr
26./ (a_m — b_w)dw =
0

1 1
" loga logb
B.loga — logb

C.loga + logb

1 1

D.
loga + log. b

° Watch Video Solution

o0
27./ e "l82dy —
0

A.O
B. oo
C.1

D.1/log2



https://dl.doubtnut.com/l/_e1mduDfnh1bV
https://dl.doubtnut.com/l/_ahhWPNMQ5ScD

| ° Watch Video Solution

3
2_
28./ Y iz
2 vbxr — 6 — 2

Am/2
B.—m/2
C.—m/3
D.—m

o Watch Video Solution

E i -
29./ dx =
0 1+=z

™
A'E_l

™
B.5+1

Cm—1


https://dl.doubtnut.com/l/_ahhWPNMQ5ScD
https://dl.doubtnut.com/l/_UFKw0U7CUYu4
https://dl.doubtnut.com/l/_WY8ma7Q3g9f4

° Watch Video Solution

a
30/‘Ma+xdw:
o Va—z

A —(m+2)

| e

B.

| e

(m —2)

s

Co(mr+2)

w

D. %(W-I— 3)

° Watch Video Solution

st. o1~ a)de =

Am/2


https://dl.doubtnut.com/l/_WY8ma7Q3g9f4
https://dl.doubtnut.com/l/_4Mj3XSaByru1
https://dl.doubtnut.com/l/_XHD5eKhCOyPw

B.m/4

C.m/6

D.7w/8

o Watch Video Solution

32./12\/(:1; ~1)(2 - z)dz =

Am/8
B.m/4
Cc.1/8

D. none

° Watch Video Solution



https://dl.doubtnut.com/l/_XHD5eKhCOyPw
https://dl.doubtnut.com/l/_58q6pnPxUMuL

1
<\/1+a:+a:2—\/1—a:+a:2d:cis
1

33.The value of/

A.O

B.1

D.none

° Watch Video Solution

1/2
1 2\ 2 —2\?
34./ T 4 (E —2%  dz =
-1 x_2 w+2

4
A.8log —
&3
B.81 3
-8log 7
4

C.4log —
Og3

3
D.4log 1


https://dl.doubtnut.com/l/_6Gy9T9sgAj5w
https://dl.doubtnut.com/l/_grVJ7WdVJmft

° Watch Video Solution

B.2

Clt+e?

D.2 —e !

° Watch Video Solution

V' dx
36. —_— =
0o € +e"7®

Atan~le — /4
B.tan le + 7 /4

C.tan le — 7 /2


https://dl.doubtnut.com/l/_grVJ7WdVJmft
https://dl.doubtnut.com/l/_93QNh3xX66WO
https://dl.doubtnut.com/l/_lTPeawijeqBf

D.none

o Watch Video Solution

log 5 e’ /ez —1
—dw =

0 e + 3

37.

A3+ 27

B.4—m

C2+m

D.none

o Watch Video Solution

w/2 L
38. / e’™ *sin2zxdr =
0

A e


https://dl.doubtnut.com/l/_lTPeawijeqBf
https://dl.doubtnut.com/l/_lPRtpn5Ax7oC
https://dl.doubtnut.com/l/_aXulg5pplUkJ

B. e+1

C.e-

D.2e +1

o Watch Video Solution

w/2 )
39. / e gin?tlpdr =
w/2

A.O

N

° Watch Video Solution



https://dl.doubtnut.com/l/_aXulg5pplUkJ
https://dl.doubtnut.com/l/_3U0May4Z0k7P

g 1
40./ — dx =
0 1+ sinx

Al

B.2

° Watch Video Solution

3r/4 1
41./ —dz
x/4 1+cosz

A.2
B.—2
c.1/2

D.—1/2


https://dl.doubtnut.com/l/_TZwQBfepLIBk
https://dl.doubtnut.com/l/_LIkCYSHo2cqE

° Watch Video Solution

3
42./ ry/1+ xdx =
0

A9/2
B.27/4
C.116/15

D.112/15

° Watch Video Solution

1

43,/ _dz  _
0 113+\/5
A.log?2

B.2log2

C.3log3


https://dl.doubtnut.com/l/_LIkCYSHo2cqE
https://dl.doubtnut.com/l/_X2cV6t8Kgosl
https://dl.doubtnut.com/l/_EGR0qVYi8VZH

D.1/2log2

° Watch Video Solution

1
44./ T _dz =
o 1+

5
A 2[5 + 10g2]

825 log 2
215 ~log

c |2~ 10g2
|5 ~los

D. none

° Watch Video Solution

o2/4 .
SIN /X
45, / der =
/16 \/E

A /2


https://dl.doubtnut.com/l/_EGR0qVYi8VZH
https://dl.doubtnut.com/l/_bu4cWLce8zTv
https://dl.doubtnut.com/l/_JeN9bs7YLcpu

B.1/+/2
C.2¢/2

D.7/2

o Watch Video Solution

1
46./ — T _dr =
0 (1—z)*/*

A.16/3

B.3/16
C.—3/16
D.—16/3

° Watch Video Solution



https://dl.doubtnut.com/l/_JeN9bs7YLcpu
https://dl.doubtnut.com/l/_JJT0ahM1Ah1t

1 _.3\1/3
o[ (@=L
1

/3 =
A3
B.O
C.6

D.4

o Watch Video Solution

s
.3
48./ sin® z cos* zdx =
0

A.4/35
B.4/30
C.4/25

D.4/33


https://dl.doubtnut.com/l/_XBY1cv87V5YO
https://dl.doubtnut.com/l/_5xJxxdWCFbC7

° Watch Video Solution

w/2
49, / sin® z cos® zdz =
0

A.8/693
B.5/693
C.4/693

D.10/693

o Watch Video Solution

T sin’ x
50. - ——dx
0 1+ cosdzx

Ar—1
B.m+ 2

Cm—2


https://dl.doubtnut.com/l/_5xJxxdWCFbC7
https://dl.doubtnut.com/l/_bBUDu28AWeeB
https://dl.doubtnut.com/l/_hP3jWUkmWKvg

D.2m — 2

o Watch Video Solution

m/4 9
sin- T
o costlzg

A.10
B.5
C.1/10

D.1/5

o Watch Video Solution

/F/4 dw
52. - =
r/6 SN2

1

A.4

log 3


https://dl.doubtnut.com/l/_hP3jWUkmWKvg
https://dl.doubtnut.com/l/_Q8jhroz2dd8y
https://dl.doubtnut.com/l/_NMPKKJJR2iQr

B 11 3
EOg
C.log3

D.2log3

o Watch Video Solution

4 tanzx
53. SE— e
o Secz + cosx

Am/3
B.m/4
Cm/2

D. 2w

o Watch Video Solution



https://dl.doubtnut.com/l/_NMPKKJJR2iQr
https://dl.doubtnut.com/l/_OEXorhhZHKfT

B.m/4
Cm/2

D. none

° Watch Video Solution

ko cosx T
55. If/ ———dx = — then k=
0 1+sin’z 4

Al
B.m/4
C.m/2

D. none


https://dl.doubtnut.com/l/_SXZMtZ65QCOh
https://dl.doubtnut.com/l/_D9MPoOjYFbHB

° Watch Video Solution

° Watch Video Solution

1
57./ zetdr =
~1

A2/e

B.e?/2


https://dl.doubtnut.com/l/_D9MPoOjYFbHB
https://dl.doubtnut.com/l/_xp5bCb3U2SSf
https://dl.doubtnut.com/l/_7oXR3l8ZD70p

D.none

° Watch Video Solution

1
58./ (2% + 1)°dz =
0

e
A Vil 4
3‘62D4—4
c(e+n‘+m
4
D. none

° Watch Video Solution

2
59. / logzdxr =
1

A 2log2 — 1


https://dl.doubtnut.com/l/_7oXR3l8ZD70p
https://dl.doubtnut.com/l/_jB2YSK7AV9J5
https://dl.doubtnut.com/l/_R9DouSts8Aau

B.log2 —1

C.2log2+1

D.2log2 — 2

o Watch Video Solution

° Watch Video Solution



https://dl.doubtnut.com/l/_R9DouSts8Aau
https://dl.doubtnut.com/l/_s5RRA4PL5zHR

61./ z3 cos zdx =

-7
A.O
B.1

C.2

D. none

° Watch Video Solution

™
62./ ztsinzdr =
— T

Al
B.O
C.2

D.none



https://dl.doubtnut.com/l/_crqfaMKwsDzy
https://dl.doubtnut.com/l/_xUHJIHQHFhbg

| ° Watch Video Solution

w/2
63./ (21::&1,n£ + z sec? £)dar: =
0 2 2

AT
B.m /2
C.2m/3

D.7w/6

o Watch Video Solution

1
64/ sin_lx/Eda: =
1/2

m—1
4

m—1



https://dl.doubtnut.com/l/_xUHJIHQHFhbg
https://dl.doubtnut.com/l/_x7oKStSo7VuA
https://dl.doubtnut.com/l/_o1tSnrqrKLnF

T—2
D.

o Watch Video Solution

1
65./ zsin 'zdr =
0

A /8
B.—7/8
C.nm/4

D.7/2

o Watch Video Solution

1
66/ tan ' zdz =
0

m
A —
4


https://dl.doubtnut.com/l/_o1tSnrqrKLnF
https://dl.doubtnut.com/l/_TYEW6Hgtrgrq
https://dl.doubtnut.com/l/_uh9nd35lPmAL

m

B. 1 + log 2
s 1
s

D. B + log 2

o Watch Video Solution

67. Evaluate the integral

1
/.7131:a,n_1 zdr
0

ol |3 la‘ol,\_] NG
+
—_

+
N[ —= o=

° Watch Video Solution



https://dl.doubtnut.com/l/_uh9nd35lPmAL
https://dl.doubtnut.com/l/_BKAHXgo1kAIP

N =
—
@)
05}
po

_|_

Y
j—
o
05}
o

_l_.

(CYY

TN N S RO e
<}
0
[\]

° Watch Video Solution

1
69. /
0

w/4 T
A.—/ —dx
0 sinz

tan™ "z

-1

dx =
T

w/4 .
B./ ——dx
o sinz

w/2
Hi
C./ —dx
0 sinx

1 [ g
D. & —dx
2/, sinz



https://dl.doubtnut.com/l/_DfqsEZZzOC4s
https://dl.doubtnut.com/l/_zzbcz1cUN7S1

° Watch Video Solution

1
2
70./ ta,n_1< z >d:c=
0 1—$2

7r

A'5 — log2
0

B.E + log 2
0

C‘§ — log3
™

D'E — 2log?2

o Watch Video Solution

71. Evaluate the integral

1
sin dx
1+ 22
0

+ log 2

N


https://dl.doubtnut.com/l/_zzbcz1cUN7S1
https://dl.doubtnut.com/l/_XxXR4Cun0us3
https://dl.doubtnut.com/l/_chOIXycXruGl

™4 Lioeo
.2+20g

D.Z _1log2
.5 — log

° Watch Video Solution

in

N
N
o\
i
~
N
—
—
<]
|
-
Q.
8
Il

>

N e T T N B N

1

+ 510g2
1

— 510g2

11 2

° Watch Video Solution

1
2z — 1
73./ tan_l{w—l dr =
0 1+$—$2


https://dl.doubtnut.com/l/_chOIXycXruGl
https://dl.doubtnut.com/l/_BC9yZAX5NXOA
https://dl.doubtnut.com/l/_iMLIa1UgGcgn

A.O

B.1/2

C.1

o Watch Video Solution

w2 /4
74./ sin/zdz =
0
A1l
B.2
Cm—+2
D.(w/2) — 1

° Watch Video Solution



https://dl.doubtnut.com/l/_iMLIa1UgGcgn
https://dl.doubtnut.com/l/_7rgVhcAdcqSH
https://dl.doubtnut.com/l/_YbICC85nz22A

/4
75. / cos /zdxr =
0

A 2
B.m— 2
Cwm+2

D.(r/2) — 1

° Watch Video Solution

w/2
76./ (cosz — sinz)e“dz =
0

A.O

B.1

D.2



https://dl.doubtnut.com/l/_YbICC85nz22A
https://dl.doubtnut.com/l/_Ond9ybH9p7dj

° Watch Video Solution

Ae
)

B e—1
T2
e

C.—-1
2

b e—3
T2

o Watch Video Solution

™
78./ e*sinxdr =
0


https://dl.doubtnut.com/l/_Ond9ybH9p7dj
https://dl.doubtnut.com/l/_LQcjpl7EN98R
https://dl.doubtnut.com/l/_Aapfu8rH98cK

1
D. E(e” + ].)

° Watch Video Solution

o Watch Video Solution

w/4
80./ [Vtanz + (/cotz] = dz
0

A7T
V2


https://dl.doubtnut.com/l/_Aapfu8rH98cK
https://dl.doubtnut.com/l/_ndjCyCm830P9
https://dl.doubtnut.com/l/_faRWqH8gKofB

o Watch Video Solution

/4 ging + cosx
81. —dx =
0 7+ 9sin2z

log 3
4
log 3
36
log7
12
log7
24

A.

o Watch Video Solution



https://dl.doubtnut.com/l/_faRWqH8gKofB
https://dl.doubtnut.com/l/_nmWMYJ0ja2aT

2
e d 2 T
82.1f I :/ 1 Y and L = [ Sde, then
. logx 1T

AL =1L
B.2I, = I,
C. Il - 2I2

D.none

° Watch Video Solution

1
83.IfI:/ \/1—}—:c3dxthen
0

Al>1


https://dl.doubtnut.com/l/_cW49w8YGAVW9
https://dl.doubtnut.com/l/_5mihxtmOe0Jn

° Watch Video Solution

1
84.IfI:/ d—x,then
0

Vital
Al>0.78
B.l <0.78
Cl>1
D. none

° Watch Video Solution

85. Evaluate the integral

w/2

dx
4+ 5coszx

0

All 2
- glog

B 11 2
EOg


https://dl.doubtnut.com/l/_5mihxtmOe0Jn
https://dl.doubtnut.com/l/_bKefkybMMKoD
https://dl.doubtnut.com/l/_oc7htRcl0fjc

1
C. -log3

D. —log2

° Watch Video Solution

w/2 1
0 2+ 3sinx

1 5+ +/5
A log

V3 15—4/5

1 5—+/5
B. log

V5 15+45

1 5+ /5
C. log

Vs 1545
D. none

° Watch Video Solution

T 1
87. d
/0 3+ 2sinx + cosx T


https://dl.doubtnut.com/l/_oc7htRcl0fjc
https://dl.doubtnut.com/l/_VYwLzmqcCUc7
https://dl.doubtnut.com/l/_CNgtiaiOZMDh

Am/3
B.7w/4
C.m/6

D.7/2

° Watch Video Solution

w/2 1
88./ —der: =
0 1+ 4sin“zx

T
25
s
2,3

D. (pi)/(2sqrt2)

o Watch Video Solution



https://dl.doubtnut.com/l/_CNgtiaiOZMDh
https://dl.doubtnut.com/l/_YaRaHP25zF7h
https://dl.doubtnut.com/l/_0sAi02ttGDHP

w/2 1
89./ 5 dr =
0 4cos?x + 9sin” x

Am/2
B.7 /10
Cn/5

D.7/2

° Watch Video Solution

T zdx
90. / — =
0 a?cos?z + b?sin”z

T
A. E
2
B. E
212
C. b
0.

[\
)



https://dl.doubtnut.com/l/_0sAi02ttGDHP
https://dl.doubtnut.com/l/_E0MAkQcXgB20

I ° Watch Video Solution

w/4 s
91./ s1na:+‘cosa:dx _
0 3 + sin2z

A 11 3
-5 log
B.log2
C.log3

Dll 3
ZOg

° Watch Video Solution

EXERCISE 1B

2?2 for 0<z <1 2
1.Iff(a:)—{\/5 for 1< o <2 then /0 f(z)dz =

A (1/3)(4v2 +1)


https://dl.doubtnut.com/l/_E0MAkQcXgB20
https://dl.doubtnut.com/l/_HVjrerBHQixn
https://dl.doubtnut.com/l/_7xiNZZpfDyuT

B.(1/3)(4v2 — 1)
C.(1/3)(2v2-1)
D.(1/2)(3v2 - 1)

o Watch Video Solution

2. I1:/41 f(z)dx = 4 and /24[3 — f(z)]de = 7 then /

- ~1
A —2

B.3

C.5

D.8

o Watch Video Solution



https://dl.doubtnut.com/l/_7xiNZZpfDyuT
https://dl.doubtnut.com/l/_qFJyptm8c0Fk

™

3.If f(x) is an even function then / f(z)sinnzdx =

-7

A.O

B. 2/7Tf(w)sinna:dw
0
4 2 innzd
C /O7r/ f(z)sinnzdz

D.none

o Watch Video Solution

1
4.] = / e* dz satisfies the inequality
0

Ald<l<1
B.—1<1[<1
Cl<I<e

D.none



https://dl.doubtnut.com/l/_0q3LQn98Xx6e
https://dl.doubtnut.com/l/_vyrcneh78yAe

° Watch Video Solution

w/2
5./ sinz. coshzdzr =
—7/2

A.O
B.7w/4
C.(e") /4

D.none

° Watch Video Solution

w/2
6./ cos z. sinh zdx =
—7/2

A.O

B.m/4


https://dl.doubtnut.com/l/_vyrcneh78yAe
https://dl.doubtnut.com/l/_b1f4sRUlzz08
https://dl.doubtnut.com/l/_SE5wcSmXIirv

D.none

o Watch Video Solution

w/2
7./ sinx sechzdz =
—m/2

A.O
B.1
C.w/4

D. none

o Watch Video Solution

1
8./ cosh do —
1 1+e€*

A.O


https://dl.doubtnut.com/l/_SE5wcSmXIirv
https://dl.doubtnut.com/l/_A4pz6XgJ3EBF
https://dl.doubtnut.com/l/_ve4y4vsCOKDF

D. none

o Watch Video Solution

B.1

e2 —1
2e

D. none

o Watch Video Solution



https://dl.doubtnut.com/l/_ve4y4vsCOKDF
https://dl.doubtnut.com/l/_3WQ6igFyHsDD

D.7/4

o Watch Video Solution

11. Evaluate the definite integrals .

w/2

cos T
/ dzx
1+e®

—m/2

A.O

B.—2

C.2


https://dl.doubtnut.com/l/_iEkUgFKnMao0
https://dl.doubtnut.com/l/_EqTPUHYgFn6A

D.1

o Watch Video Solution

™ 2

cos” .
12. The value of/ dr,a > 0is
_.1+a”
A am
B.7m/2
C7m/a
D. 2w

o Watch Video Solution

™ sin’zx
13.a > 0, 1+amdw:

Am/2


https://dl.doubtnut.com/l/_EqTPUHYgFn6A
https://dl.doubtnut.com/l/_BqiE8oiIZEkQ
https://dl.doubtnut.com/l/_EjxasRCg3n8w

C.am/2

D.am

o Watch Video Solution

1
14./ (aw?’ + bw)d:v = 0 for
-1

A. any values of aand b
B.a > 0 and b > Oonly
C.a > 0 and b < Oonly

D.a < 0 and b < Oonly

Answer: a

° Watch Video Solution



https://dl.doubtnut.com/l/_EjxasRCg3n8w
https://dl.doubtnut.com/l/_SvywycSGnuPm
https://dl.doubtnut.com/l/_qUhqNQCG45t0

z 1
15. If/ ft)dt =z + / tf(t)dt, then the value of f(1) is
0 z

A1/2
B.O
C.1

D.—1/2

o Watch Video Solution

16.1f f(y) = €, 9(y) = y:y > 0 and F(t) = /Otf(t —y)g(y)dy, then
AF(t) =¢ —(1+1)
B. F(t) = te*
C.F(t) =te !

D.F(t) =1—e '(1+1)

| o A _L vl . o ~_ ..


https://dl.doubtnut.com/l/_qUhqNQCG45t0
https://dl.doubtnut.com/l/_k5GIK04isd69

LT vYvallll vIiUCO o0IuULivn

x(dt)/t<\/t2 — 1) = %is

17. The solution for x of the equation /
V2

° Watch Video Solution

t
18. d—x = z,then t=
log2 +/ e* —1 6
A. 4
B.log8

C.log4


https://dl.doubtnut.com/l/_k5GIK04isd69
https://dl.doubtnut.com/l/_HR7k4autK6qE
https://dl.doubtnut.com/l/_Cyk781SV96Gj

D.none

° Watch Video Solution

dx =

™/2 \/sinzx
19.
0

Vsinz + y/cosx

Am/4
B.7m/2
C.m/3

D.7/8

° Watch Video Solution

zo./ﬁ/2 cos’ ? dz —
0 cos3/2x + sin®/ 2z

Am/3


https://dl.doubtnut.com/l/_Cyk781SV96Gj
https://dl.doubtnut.com/l/_PNoy9vFgJpKj
https://dl.doubtnut.com/l/_kzGzwLbXeuZT

B.m/2
C.m/4

D.7/8

o Watch Video Solution

/3 sin® z
21./ dr =

/6 sin®z + cosd z
A /6
B.m /12
Cm/2

D.7w/3

o Watch Video Solution



https://dl.doubtnut.com/l/_kzGzwLbXeuZT
https://dl.doubtnut.com/l/_PXVaqondm20s

22 /”/2 secz do —

' 0 secx + cosecx B
Am/3
B.m /2

C.m/4

D.7/8

° Watch Video Solution

™/2 cot x
23./ dxr =
0

tanz + cot x
Am/4
B.7m/2
C.m/3

D.7/8


https://dl.doubtnut.com/l/_Xh9jmD6R7DrH
https://dl.doubtnut.com/l/_nHXxTwtpwLYK

° Watch Video Solution

“Jo Vtanz + +/cot =

B.7m/2
C.m/3

D.7/4

o Watch Video Solution

w/2 1
25./ — dzx =
0 1+ y/cotz
A.O0
B.m /2

Cn/4


https://dl.doubtnut.com/l/_nHXxTwtpwLYK
https://dl.doubtnut.com/l/_61R6Zx6LC0Nt
https://dl.doubtnut.com/l/_kBQ1raV4N4SE

° Watch Video Solution

w/2
26./ _dz
0 1+ tan®z

AT
B.m /2
Cn/4

D.3m /2

o Watch Video Solution

27./“/2 200sinz + 100 cos x e
0

sinz + cosx

A. 50


https://dl.doubtnut.com/l/_kBQ1raV4N4SE
https://dl.doubtnut.com/l/_tSh2AMUFlYkN
https://dl.doubtnut.com/l/_PEGL8ADG62Tr

B. 257

C.75m

D. 1507

o Watch Video Solution

dr =

™/2 htanx — 3cot =
28.
0 tanx + cot x

Am/2
B.m/3
C.m/4

D.7w/8

o Watch Video Solution



https://dl.doubtnut.com/l/_PEGL8ADG62Tr
https://dl.doubtnut.com/l/_sr0cwL0YG7Cc

xr =
secx + cosecx

w/2 3 5
29./ secx + cosecxd
0
AT
B. 27

C.3m

D.7/2

° Watch Video Solution

w/2
30./ log(tanz)dz =
0

A0
B.7m/2
C.m/3

D.7/4


https://dl.doubtnut.com/l/_fB4nyA0BO4zB
https://dl.doubtnut.com/l/_jQ7W0rSTAGNN

° Watch Video Solution

* logx
31. dr =
0o 1+a2
A. 0o
B.m/4
C.0

D.none

° Watch Video Solution

) *® zlogx .
32.The value of the integral 5 dx is
o (1+z2)
Al
B.O

C.2


https://dl.doubtnut.com/l/_jQ7W0rSTAGNN
https://dl.doubtnut.com/l/_XKovyVdpHV88
https://dl.doubtnut.com/l/_l3dRqT2VdbVF

D.none

° Watch Video Solution

w/2

33.Show that/ .;dw = T
siInx + cos T 24/2

log(v/2 +1) .

0

T

22

Y log(v/2 + 1)

C. %log(\/ﬁ + 1)

log(\/ﬁ — 1)

D.none

° Watch Video Solution



https://dl.doubtnut.com/l/_l3dRqT2VdbVF
https://dl.doubtnut.com/l/_hytfbO9odnAe

34. Evaluate the integral

™

Trsinz
/— dx
14 cos2zx

0
A% /2
B.w%/3
C.m?

D. 72 /4

° Watch Video Solution

T  rtanz
35. EEE— e
o Secx + cosx

A2 /4
B.w%/3
c.m?/2

D. 7r2


https://dl.doubtnut.com/l/_1N9qY07i1k8a
https://dl.doubtnut.com/l/_SoxEfpVnbCvP

° Watch Video Solution

" ztanz
36./ dr =

o secx + tanzx
™ — 2

2

(mr — 2)

2
c T+ 2
C2
. 7r(7r2—|—2)

B.

° Watch Video Solution

w/4
37./ log(1 + tanxz)dz =
0

A Zlog2
- glos

B. Zlog 2
- log


https://dl.doubtnut.com/l/_SoxEfpVnbCvP
https://dl.doubtnut.com/l/_lphsQvXGik6P
https://dl.doubtnut.com/l/_4pJedhdeT6zN

C.mlog2

D.none

° Watch Video Solution

1 8log(1 + x
38.The value of/ Ldm is:
0 1+ 22

T

A.
2

log 2
B.log2

C.mlog2

s

D.
8

log 2

° Watch Video Solution

39 /1 wsin_lwd
. —dzx =
0 V11— z2


https://dl.doubtnut.com/l/_4pJedhdeT6zN
https://dl.doubtnut.com/l/_OTsWWFXswnW8
https://dl.doubtnut.com/l/_xbcSzvPt0TBK

A.O

B.1

c.1/2

D.2

° Watch Video Solution

@ dzx
40./ -
0 z+ Vva?— x?
Am/2
B.m/3
C.m/4
D. none

° Watch Video Solution



https://dl.doubtnut.com/l/_xbcSzvPt0TBK
https://dl.doubtnut.com/l/_re0cAMbjWTR0
https://dl.doubtnut.com/l/_4NrZW0UqMTqx

w/2
41./ log(sinz)dz =
0

A. mlog?2
B. —mlog2

C.— Zlog?2
.~ 5 log

D. Zlog 2
- 5 log

° Watch Video Solution

w/2
42, / log(cos z)dzx =
0

71'
A 510g2
™
B. — 510g2
m
C. —5210g2

D.none



https://dl.doubtnut.com/l/_4NrZW0UqMTqx
https://dl.doubtnut.com/l/_d9GRpHqlxl60

I o Watch Video Solution

w/2
43./ log(tanz + cot z)dz =
0

A. mlog?2

B. —mlog2
C.— Zlog?2
-~ 5log

D. Zlog2
- 5 log

° Watch Video Solution

log 22
logz? + log(36 — 12z + x2)

4
44.The integral / dz is equal to
2

A.2
B.4

C.1


https://dl.doubtnut.com/l/_d9GRpHqlxl60
https://dl.doubtnut.com/l/_HTTuS8SJzFuG
https://dl.doubtnut.com/l/_nYPtcWRellsH

D.6

o Watch Video Solution

w/2
45./ sin 2z log(tanz)dx =
0

A.O
B.1

C.2

o Watch Video Solution

1
46./ logsin(ﬁ>d:c =
0 2

A.log2


https://dl.doubtnut.com/l/_nYPtcWRellsH
https://dl.doubtnut.com/l/_ZLGvUJhjz1g6
https://dl.doubtnut.com/l/_dORcgvlxbz1u

B. —log2

C. Zlog2
- 5 log

™

D. — —log?2

o Watch Video Solution

o log(1 2
47,/ log(1 +2%)
0

1+ 22
A. mlog?2
B. —mlog?2
C.— Zlog2
. —5 og

D. Zlog 2
- 5 log

° Watch Video Solution



https://dl.doubtnut.com/l/_dORcgvlxbz1u
https://dl.doubtnut.com/l/_gOwtEBFKyurJ

Lsin~1g
48./ dr =
0 T

A.mlog?2
B. —mlog2

C.— Zlog2
.~ 5 log

T

D. —log?2

° Watch Video Solution

49.If ] = /lcos (2cot_1 <ﬂ>>d$ then

0 1+z
1

ATl > 5
1

B.I=§
1

C.I< E
1

D.I:E


https://dl.doubtnut.com/l/_vGu1fpeqK6eJ
https://dl.doubtnut.com/l/_c6fiWt58pfpr

° Watch Video Solution

50. Evaluate the integral

™

/ z sin® zdz

0

>
o 3 oo|=]N’

@

C.——

D.2m

o Watch Video Solution

51. Evaluate the integral

a

/:c(a —z)"dx

0
an+2

A.
(n+1)(n+2)



https://dl.doubtnut.com/l/_c6fiWt58pfpr
https://dl.doubtnut.com/l/_1UqEzgAp76Zh
https://dl.doubtnut.com/l/_BhJTXpUDWSzE

2an+2

B.
(n+1)(n+2)

¢ (n—1)(n +2)

an—|—2

D.
(n+1)(n —2)

o Watch Video Solution

o Watch Video Solution



https://dl.doubtnut.com/l/_BhJTXpUDWSzE
https://dl.doubtnut.com/l/_BFT3IfCl79B7

o Watch Video Solution

2 22 — 2
54, —dz =
0 2z — x2

A.O0
B.2
C.3

D.4


https://dl.doubtnut.com/l/_lkzRymwAHVUc
https://dl.doubtnut.com/l/_dNiFxneVdefh

° Watch Video Solution

dr =
20 — T

T x.sin2z. sin 2)cos x
. [ (m/2)cos ]
0
A.6 /2
B.8 /7>

C.5/n?

D.4/m?

° Watch Video Solution

56. /ﬂ:cf(sinx)dw =

—/ (sinz)
B. 7r/ f(cosz)
W/O f(cos z)dx


https://dl.doubtnut.com/l/_dNiFxneVdefh
https://dl.doubtnut.com/l/_empnCxyByJoJ
https://dl.doubtnut.com/l/_gPcpgjAQe3Bk

D. w/oﬂf(sinx)dm

° Watch Video Solution

71' /2
57. If/ zf(sinz)dz = A/ (sinz)dx, then Ais
0 0

A.O
B. w2

Cn/4

° Watch Video Solution

58. If f(x) is intergrable on [0,a] then /
o f(z)

A.O



https://dl.doubtnut.com/l/_gPcpgjAQe3Bk
https://dl.doubtnut.com/l/_685M4Kvt1RkC
https://dl.doubtnut.com/l/_eqYgEImUAQyj

B.1

D.a/2

o Watch Video Solution

f(z) B
59/ f(z +fa+b—m)d‘”_

A.a-b

B. b-a
b—a
2

a—2>b
2

° Watch Video Solution



https://dl.doubtnut.com/l/_eqYgEImUAQyj
https://dl.doubtnut.com/l/_NYKECRw6pY1N

b
60.If f(a +b—z) = f(z), then / zf(z)dx =

b
A a—2|—b/a f(z)dz =

b
B. a;b/a f(z)dz =

—p b
C.a2 /f(a—l—b—w)dx

b
a—2|—b/a f(b—z)dx

D.

° Watch Video Solution

61./3 VT
2 Vb—z+ 4z
A1/2
B.3/2
C.5/2

D.O


https://dl.doubtnut.com/l/_KpKHnsaCGUGx
https://dl.doubtnut.com/l/_4b6avVkEFdl3

° Watch Video Solution

: 6 VT :
62. The value of the integral, / dz is
3 V9—z+x
A 2
B.1
c.1/2
D.3/2

° Watch Video Solution

: S + a
63. v dr =
VT +a+Vb—=z

A.a-b
B.4a+b

C.(a+1b)/2


https://dl.doubtnut.com/l/_4b6avVkEFdl3
https://dl.doubtnut.com/l/_dbCca8LcoV71
https://dl.doubtnut.com/l/_PkJLSgn96lw2

D. b-a

° Watch Video Solution

64.

e

f(z) =

(—a)

I,
then the value of — is
L

A2

B.1

z f(a)
Tt e I = /f zg{z(1l — z)}dz and I, = /

f(a)

f(—a)

If

g{z(1 — =

° Watch Video Solution



https://dl.doubtnut.com/l/_PkJLSgn96lw2
https://dl.doubtnut.com/l/_EoDjYiaP86cb

Lsinz 1 cos T
65. Let | = / dr and I = / dz. Then which one of the
0 T 0 T

following is true?

2
A.I<§andJ<2
2
B.I<§and2<J
2
C.I>§andJ<2
2
D.I>§andJ>2

o Watch Video Solution

3r/8
66/ —  dx =
1+ cotx

Am/8
B.27
Cn/4

D.7/2


https://dl.doubtnut.com/l/_ApfSl26ZV9gb
https://dl.doubtnut.com/l/_QQcO0dwwXhh0

° Watch Video Solution

2
67./ (:1311 cosT + e”)dw =
—2

A. sinh 2
B.2sinh 2
C.2cosh?2

D.2tanh 2

° Watch Video Solution

1
68./ 10g<2+x)dw:
1 2—x

Al

B.O


https://dl.doubtnut.com/l/_QQcO0dwwXhh0
https://dl.doubtnut.com/l/_ZamtzdaesfnK
https://dl.doubtnut.com/l/_KuxEsEqiESIc

C.2

D.none

° Watch Video Solution

/2 2 — sinf
69./ log<$)d0 =
P 2 + sinf
A.O

B.1

C.2

° Watch Video Solution

o[ (2T Y
—x/4 \ 2 — cos2z


https://dl.doubtnut.com/l/_KuxEsEqiESIc
https://dl.doubtnut.com/l/_TP9oSAvqMajD
https://dl.doubtnut.com/l/_tsJU6vJlXA3u

° Watch Video Solution

+1 d )
71./1 %(ta,n_ 1/z)dz =

Am/2
B.7w/4
C.—m/2

D.none

° Watch Video Solution



https://dl.doubtnut.com/l/_tsJU6vJlXA3u
https://dl.doubtnut.com/l/_Y7eqAeUvW5sX
https://dl.doubtnut.com/l/_2US1fcxlmIDk

w/2

72.The value of/ (m?’ + zcosz + tan® z + 1) dr =
—7/2

A.O
B.2
Cm

D.none

° Watch Video Solution

—7/2
73./ [(a: +7)° + cos?(z + 37r)]dw =
—3m/2

Am/2
B.(w/4) — 1
c.mw/32

D. (7! /32) + (7/2)


https://dl.doubtnut.com/l/_2US1fcxlmIDk
https://dl.doubtnut.com/l/_uqIftFvWkQMc

° Watch Video Solution

74. Let f(x) be a function satisfying f'(z) = f(z) with

f(0) = 1 and g(z) be a function that satisfies f(z) + g(z) = x2. Then

1
the value of the integral/ f(z)g(z)dz, is
0

A.e—l—i—E
2 2
e? 3
36—7—5
C.e—l—é-l-E
2 2
De—i—E
' 2 2

° Watch Video Solution

b
75.1f f''(z) and f’(x) are continuous on [a,b] then / zf ' (z)dx =

A.[bf"(b) — af(a)] = [f(b) — fla)]



https://dl.doubtnut.com/l/_uqIftFvWkQMc
https://dl.doubtnut.com/l/_28op9LdY6oBO
https://dl.doubtnut.com/l/_uvy0t1yXgU8A

B.[af"(a) — bf(b)] — [f(b) — f(a)]
C.[bf"(b) — af’(a)] — [(b) — f(a)]

D.[bf"(b) + F(b)] — [af’(a) + f(a)]

° Watch Video Solution

76. If f(x) and g(x) are continuous functions satisfysing

flz) = (o~ 2) and g(a) + g(a — 2) = 2then [ f(a)g(e)ds

A /Oag(ac)dw

B./Oaf(a:)dac
C. 2/0af(a:)dw

D. 2/0 g(z)dz

° Watch Video Solution



https://dl.doubtnut.com/l/_uvy0t1yXgU8A
https://dl.doubtnut.com/l/_t5l6HFpL8iX1
https://dl.doubtnut.com/l/_fNF1mxJKZulo

27, ! \/1+:B+a:2—\/1—w+x2d$:

“1V1l+z+ 22+ /11— + 22

A—1
B.O
C.1

D.1/2

° Watch Video Solution

78./ (cos 2z — sin3x)2dm =

AT

B.O



https://dl.doubtnut.com/l/_fNF1mxJKZulo
https://dl.doubtnut.com/l/_2zjl4y25ufGP

l & Watch Video Solution

. " 1-=z :
79. The function F(z) = / log(—)dm is
0 14z

A. an even function
B. an odd function
C. a periodic function

D.none

° Watch Video Solution

> |z
80.Ifa<0<bthen/ 7d$:

A. b-a
B.ab

C.a+b


https://dl.doubtnut.com/l/_2zjl4y25ufGP
https://dl.doubtnut.com/l/_RjNOlE1Nwfhm
https://dl.doubtnut.com/l/_ad7AndLDKKOn

D.0O

° Watch Video Solution

2
81./ |1 — z|dz
0

A.0
B.1
c.1/2

D.3/2

o Watch Video Solution

82./02[33 —2|dz =


https://dl.doubtnut.com/l/_ad7AndLDKKOn
https://dl.doubtnut.com/l/_03enH1S3oMgB
https://dl.doubtnut.com/l/_xX3J1UKQkjmL

Al

B.2
c.—-1
D.—2

o Watch Video Solution

2
83./ (] + o — 1])de =
0

A3
B.O
C.4

D. 2

o Watch Video Solution



https://dl.doubtnut.com/l/_xX3J1UKQkjmL
https://dl.doubtnut.com/l/_Av9PhXGaOLXQ
https://dl.doubtnut.com/l/_Eoi9jBWxA43X

3

84.The value of/ [1 — xﬂdm is
2

NE:
3
2 1
'3
7
'3
14
3

D.

° Watch Video Solution

2
85./ ‘cosﬂ-—w‘da: =
0 2

Al/m
B.2/m
C.3/m

D.4/m



https://dl.doubtnut.com/l/_Eoi9jBWxA43X
https://dl.doubtnut.com/l/_BMsjFCwN1Lzr

| ° Watch Video Solution

86./ llogz|dz =
1/e

Al-1/e
B.2(1— 1/e)
Cl/e—1

D.none

° Watch Video Solution



https://dl.doubtnut.com/l/_BMsjFCwN1Lzr
https://dl.doubtnut.com/l/_WBQC9D3N5vQ1
https://dl.doubtnut.com/l/_mbxZ9TqVjw1e

D.5

° Watch Video Solution

45
88. / [z]dx =
0.5

A3
B.5
C.8

D.10

° Watch Video Solution

50
89. (z — [z])dx =
0

A. 25


https://dl.doubtnut.com/l/_mbxZ9TqVjw1e
https://dl.doubtnut.com/l/_qKlHQ56XDELM
https://dl.doubtnut.com/l/_KwQlR0RgLW8t

B. 20

D.10

o Watch Video Solution

3w /2

90. [y] is the integral part of y, then / [2sinz|dx =
w/2

A —m
B.O
C.—7/2

D.7/2

o Watch Video Solution



https://dl.doubtnut.com/l/_KwQlR0RgLW8t
https://dl.doubtnut.com/l/_xsESuWf54GEU

1000
91./ et Ty =
0

61000 -1

A ————
1000
21000 _ 1

B. ——
e—1
C.1000(e — 1)

e—1
D.
1000

° Watch Video Solution

100
92./0 sin(z — [z])wdx =

A. 100/
B. 200 /7
C. 1007

D. 2007


https://dl.doubtnut.com/l/_ergOgzp2AODH
https://dl.doubtnut.com/l/_V2R9eTTIau9P

° Watch Video Solution

93. If [x] denotes the greatest intger function then the velue of

45 1
/ [:c]dw—i—/ |z|dx is
0.5 -1

A9
B.8
C.7

D.6

° Watch Video Solution

3
94. Evaluate / sin|x|dx

—7/2
A.O0

B.1


https://dl.doubtnut.com/l/_V2R9eTTIau9P
https://dl.doubtnut.com/l/_3OR7GQdzq23C
https://dl.doubtnut.com/l/_Yo6DNzRqVErM

C.2

° Watch Video Solution

1
95./ |sin 27z |dz =
0

A.O
B.—1/m
Cl/xw

D.2/m

° Watch Video Solution



https://dl.doubtnut.com/l/_Yo6DNzRqVErM
https://dl.doubtnut.com/l/_tcklB7LDFjpj
https://dl.doubtnut.com/l/_VrIPBXcxQSuO

All 2
- 5 log

B 11 2
.—-EZ og
C.log2

D. —log2

° Watch Video Solution

1007

97. /1 — cos2xdx =

0

A.150+/2
B. 100+/2

C.200,/2

D. 50+/2

° Watch Video Solution



https://dl.doubtnut.com/l/_VrIPBXcxQSuO
https://dl.doubtnut.com/l/_cY029oVHO7Tj
https://dl.doubtnut.com/l/_VtFAr7LKfzIF

98./ |cos @ — sin0|d6
0

A2

B.2v/2
C.3v2
D.3/3

° Watch Video Solution

99. The integral ‘int_(0)"(x) sqrt(1+4 sin"(2). x/2 - 4 sin. x/2 )dx equals

A4/3 -4
3.4\/3—4—%
Crm—14
D.%T—4—4\/§



https://dl.doubtnut.com/l/_VtFAr7LKfzIF
https://dl.doubtnut.com/l/_sytOcrJ6uG83

| @ Watch Video Solution

3/2
100./ |z sinmz|dz
-1

A.

| v 3|w 3| w
+ +

+
3| = >¥M|,_. ﬁmll—l >L|r—!

° Watch Video Solution

T . 3
fo sin® x
x
A.0.25
B.2.5

C.5.2


https://dl.doubtnut.com/l/_sytOcrJ6uG83
https://dl.doubtnut.com/l/_LBnM00T0ET3D
https://dl.doubtnut.com/l/_vecYGi28FpdR

D.0.52

o Watch Video Solution

w/3
102./ |tanz — 1|dz =
0

v Liogo
9 %8

S w >
ol w3y o3 &3

N

O

+ —log2

o Watch Video Solution

103. Lt, o—3————
Jy tan™'tdt

Al


https://dl.doubtnut.com/l/_vecYGi28FpdR
https://dl.doubtnut.com/l/_IIvAG1wewEyv
https://dl.doubtnut.com/l/_pP49NTe9ceTQ

B.2

C.o0

D.4

o Watch Video Solution

104. If

/000 @+ a2)(;2ixb2)(x2 T2 2a+ b)(b7r+ Jcra) M /OOo (
A7 /60
B. /20
C.m /40

D.7 /80

o Watch Video Solution



https://dl.doubtnut.com/l/_pP49NTe9ceTQ
https://dl.doubtnut.com/l/_Ant0NszsRwGf
https://dl.doubtnut.com/l/_TIh8F0onh6na

/2 sing )
105. dzx lies between
0 T

A.Oand 1
B.—1 and 1
C.1and 7/2

D. none

° Watch Video Solution

z+1 2z+1 3z+1 1
106. A(z) = |2 +1 3z +1 x+1 | then / A(z)dx =
132 +1 z4+1 2z+1| 0

A —15
—15

2
C.—30


https://dl.doubtnut.com/l/_TIh8F0onh6na
https://dl.doubtnut.com/l/_dCab4lbPCIa0

° Watch Video Solution

107.

2cos’zx sin2rx —sinz

w/2
f(z) = |sin2z 2sin’z cosz then / [f(z) + f'(z)|dz
0

sin —cosz O

A.O

C.m/2

D. none

° Watch Video Solution

cosx 1 0
108.1f f(z) = |1 2cosz 1

0 1 2coszx

Al/4

w/2
then / f(z)dz
0


https://dl.doubtnut.com/l/_dCab4lbPCIa0
https://dl.doubtnut.com/l/_OIoSrjtnDoDH
https://dl.doubtnut.com/l/_YgUHf6sLtDXL

B.1/3
C.1/2

D.—1/3

o Watch Video Solution

109. If

sinz + sin2x + sin3x sin2x sin3x

™/
f(z) = |3+ 4sinz 3 4sinz |, then the value of /
14+ sinz sinz 1 0

A3
B.2/3
Cc.1/3

D.O

° Watch Video Solution



https://dl.doubtnut.com/l/_YgUHf6sLtDXL
https://dl.doubtnut.com/l/_vOoO3YdrGnG5

[, sin’ t cos tdt
1M0. Lt; 0 3 =
z
Al
B.1/3
C.1
D. oo

° Watch Video Solution

fow tan? t sec? tdt
M. Lt, o =
3
A.O

B.1

c.1/3


https://dl.doubtnut.com/l/_vOoO3YdrGnG5
https://dl.doubtnut.com/l/_iugjWPUU1lVk
https://dl.doubtnut.com/l/_h6Dn0irM2GA6

D.1/2

° Watch Video Solution

fox cos® tdt
m.rn, ,| —— | =
x
Al
B.—1
C.0
D.none

o Watch Video Solution

t eIl
113.1f f(¢) :/ c 5 dr then lim f(t) =

-t

Al


https://dl.doubtnut.com/l/_h6Dn0irM2GA6
https://dl.doubtnut.com/l/_3h8tT7v2zEeC
https://dl.doubtnut.com/l/_QgICg70MzNvO

B.1/2

C.o0

o Watch Video Solution

2
f: sin v/tdt
x
A1/3
B.1
C.2/3
D. none

° Watch Video Solution



https://dl.doubtnut.com/l/_QgICg70MzNvO
https://dl.doubtnut.com/l/_ZyB7GvZj5xG4

1 1 2 2
15. If I, = / 2 dz, I, = / 2 dz, I; = / 2 dx, I, = / 2 da
0 0 1 1

then

AL > 1
B.Ib > I
ClIs > 14

D. none

° Watch Video Solution

o 2 \/ﬂ' oo 2
116. If/ e Ydr = 5 then / e “dx,a>0is
0 0
A VT
2
™
i
2a
™
c2¥"
a

o
no| =
NE


https://dl.doubtnut.com/l/_9LqbjDC96W4Y
https://dl.doubtnut.com/l/_VOCteXCRNthN

° Watch Video Solution

EXERCISE 1C

w/2
1./ sin® zdzx =
0

A 1287
" 315

8 128
" 315

T

C.m

D.none

° Watch Video Solution

w/2
2./ cos’ zdr =
0


https://dl.doubtnut.com/l/_VOCteXCRNthN
https://dl.doubtnut.com/l/_a0sDmutGDEbL
https://dl.doubtnut.com/l/_MJ2cn4BKCyra

14
35

16
30
16
35

26
35

Answer: ¢

o Watch Video Solution

w/2
3./ cos' zdz =
0

o1
35

B 637
" 512

267

"~ 35
26

D. —
35

° Watch Video Solution



https://dl.doubtnut.com/l/_MJ2cn4BKCyra
https://dl.doubtnut.com/l/_gZBfMVwHfU3d

4.If I, = /W/4ta,n" 0do for 1,2, 3, ... then
0
I 1+ 151 =
A.O0
B.1
C.1l/n

D.1/n+1

° Watch Video Solution



https://dl.doubtnut.com/l/_gZBfMVwHfU3d
https://dl.doubtnut.com/l/_j7EaNqXHcjwP
https://dl.doubtnut.com/l/_898Ysgnf6ZBe

° Watch Video Solution

1

7.Find /x3/2\/1 — zdx

0


https://dl.doubtnut.com/l/_898Ysgnf6ZBe
https://dl.doubtnut.com/l/_BpLFCWUNVVYP
https://dl.doubtnut.com/l/_FK0yP8yJdhLa

(@]
5|_\_‘ El_\_] @l-\-] @l-\-\

° Watch Video Solution

8./ x3(ax — m2)3/2dw =
0

A 9ma’
" 2048

3ra’
© 2048

9ra’
© 2048

b 9ra’
" 2345

o Watch Video Solution



https://dl.doubtnut.com/l/_FK0yP8yJdhLa
https://dl.doubtnut.com/l/_49laG360yy16
https://dl.doubtnut.com/l/_FZYVUViBZJsV

1
9./ 21— )%/ %dz =
0

1384
' 45045
84
" 5045
384
" 45045
o, 284

45045

o Watch Video Solution

tan t
10. If Il = dt and .[2 =
2
1/e 1+t 1

of 1 + Iy is

D.

cotz

/e

dt

t(1+ t2)

then the values


https://dl.doubtnut.com/l/_FZYVUViBZJsV
https://dl.doubtnut.com/l/_bJD2s0Wp3yvX

° Watch Video Solution

w/2
1. The value of I = \/cosa: — cos® zdzx is
—m/2

A0
B.2/3
C.4/3

D.1/3

° Watch Video Solution

12 Let f:R— R be a differentiable

1 Flz) g3
£(2) = 6, '(2) = 55 Then th_2/6 L

A 24

function

having


https://dl.doubtnut.com/l/_bJD2s0Wp3yvX
https://dl.doubtnut.com/l/_qqgMVSoWItKS
https://dl.doubtnut.com/l/_SC3wBsWYy3cx

B.36

D.18

o Watch Video Solution

w/2
13,/ _dz
0 1+ tan®z

A.O
B.1
C.m/4

D.42

o Watch Video Solution



https://dl.doubtnut.com/l/_SC3wBsWYy3cx
https://dl.doubtnut.com/l/_seUjuBW27zmg

1
14.The value of the integral I = / z(1—x)"is
0

A 1
‘n+2
1 1
B. —
n+1 n-+ 2
1 1
C.
n—+1 n+ 2
5 1
‘n+1

° Watch Video Solution

7T/2 1 )
15. The value of/ ﬂdw is

0 (2+cosz)?
A—1/2
B.2
c.1/2

D. none of these


https://dl.doubtnut.com/l/_Svx9EDZzodJs
https://dl.doubtnut.com/l/_W2cB1sTUepfT

° Watch Video Solution

T
16. The value of/ sin™ z cos®™ ! zdzx is
0

N (2m +1)!

(n!)’
5 (2m +1)!

n!

™
C./ cos’™ L xdz
0

D. none of these

° Watch Video Solution

3r
17.The value of/ log(secd — tan6)d@ is

-7
Al
B.O

C.2


https://dl.doubtnut.com/l/_W2cB1sTUepfT
https://dl.doubtnut.com/l/_3kmO5Q7xaVFk
https://dl.doubtnut.com/l/_Hu8OcHrrjLnh

D. none of these

° Watch Video Solution

w/2
18. The value of / +/sin 20 sin 6d0 is
0

Al
B.O
Cm/2

D.7/4

o Watch Video Solution

& d
19. If/ v = km then the value of k is
o (22 +4)(=2+9)

A.1/60


https://dl.doubtnut.com/l/_Hu8OcHrrjLnh
https://dl.doubtnut.com/l/_GkQAAa1Poaua
https://dl.doubtnut.com/l/_AM0Bf7iFY0ne

o Watch Video Solution

1
20. If f is an odd function then/ [|lz| + f(z)cos z]dx =
-1

A.O
B.1
C.2

D. none of these

o Watch Video Solution



https://dl.doubtnut.com/l/_AM0Bf7iFY0ne
https://dl.doubtnut.com/l/_8mkY3DG0PTkF

27 1
21 / _ L e
0 1 _|_ eS].n:L‘

B.O
C. 27

D.7/2

Answer: a

° Watch Video Solution

B.O

C.m/2

D. none


https://dl.doubtnut.com/l/_1mBbX7IBdT2f
https://dl.doubtnut.com/l/_b3rVNCraumFS

Answer: ¢

o Watch Video Solution

C.o

D.2/e

o Watch Video Solution

24./ [cos z]dz =
0

Am/2

B.O


https://dl.doubtnut.com/l/_b3rVNCraumFS
https://dl.doubtnut.com/l/_pg2r5DcreNtf
https://dl.doubtnut.com/l/_WGI6OsiadpbX

C.m

D.—7/2

Answer: d

o Watch Video Solution

3 /2
25./ [2sinz]dx =
w/2

A —m
B.O
C—7/2

D.7/2

o Watch Video Solution



https://dl.doubtnut.com/l/_WGI6OsiadpbX
https://dl.doubtnut.com/l/_beiEp6muZIzc

w/4
26./0 sinz. d(z — [z]) =

A 1
"2
1
B.1 - —
V2
C.1
D.none

o Watch Video Solution

27. /_1 (o — [20])dz =

1

Al
B.O
C.2

D.4


https://dl.doubtnut.com/l/_7nl5tUzolyl4
https://dl.doubtnut.com/l/_6DR06YHtu61o

° Watch Video Solution

]
za./0 (@ — [a])dz =

B. 2[x]

L
" 2[z]

D. none

o Watch Video Solution

2
29./ 2?[z]dz =
0

A5/3
B.7/3

C.8/3


https://dl.doubtnut.com/l/_6DR06YHtu61o
https://dl.doubtnut.com/l/_RIIuIhh621aG
https://dl.doubtnut.com/l/_twi03aJtOXGE

D.4/3

° Watch Video Solution

m
30. / [cot z]dx, where [ -] denotes the greatest integer function, is
0

equal to

Al

C.—m/2

D.7/2

° Watch Video Solution

b

31L.Forx € (O, 2

) define, f(z) = /\/isintdt then f has
0


https://dl.doubtnut.com/l/_twi03aJtOXGE
https://dl.doubtnut.com/l/_87umIiWpsCfh
https://dl.doubtnut.com/l/_CFncCQyWV1qV

A. local minimum at 7 and local maximum at 27

B. local maximum at 7 local minimumat 27

C. local maximum at 7w and 27

D. local minimum at 7w and 27

° Watch Video Solution

32.1f g(z) = / cos 4(t)dt, then g(z + ) equals
0

A.g(z) — g(m)
B.g(z). g(m)
g(m)

D.g(z) + g(m)

° Watch Video Solution



https://dl.doubtnut.com/l/_CFncCQyWV1qV
https://dl.doubtnut.com/l/_Js1FC1o9gjiE
https://dl.doubtnut.com/l/_l8JVqDyE5hro

T
1
33.The slope of the tangent to the curve y = / T dt at the point,
0

where x=1is

w
N[ = W= A=

o

° Watch Video Solution

EXERCISE 1D

TL‘)OO -
Z n2+’r2

Al



https://dl.doubtnut.com/l/_l8JVqDyE5hro
https://dl.doubtnut.com/l/_6TADMq9d1C6M

Cm/2

D.7/4

° Watch Video Solution

= Va2
Am/2
B.m/3
C.m/6
D.w/5

° Watch Video Solution

n—1 1
5Lt LS L~
r=1

JE o


https://dl.doubtnut.com/l/_6TADMq9d1C6M
https://dl.doubtnut.com/l/_idAHf4un3eiv
https://dl.doubtnut.com/l/_ltmUtdlA9HvE

B.7m/2
C.m/3

D.7w/6

° Watch Video Solution

ALty g— Y —————
=1 VnZ + 12
Al+ /5
B.—1++/5
C.—1++/2
D.1+4 /2

o Watch Video Solution



https://dl.doubtnut.com/l/_ltmUtdlA9HvE
https://dl.doubtnut.com/l/_IYm46OB9IFuC

o S

c—~n n—r
A T
"2
B. 27
¢l 1
"2
D.(w/(2) +1
o Watch Video Solution
6. Lt 1 1 + L
o n— oo n+ 1 n+ 2 ceee %
A.log2
B.log3

C.4

D.7/2



https://dl.doubtnut.com/l/_e6LxzGCUrWHn
https://dl.doubtnut.com/l/_4lDlsP79x7rW

° Watch Video Solution

S
7.Lt, ., o —
r=0 n+r

A.log2

B. log 2

C.1/2log2

D.none

o Watch Video Solution

8. Lt 1—|— . . + + L
T e o+l on2 T 3n
Ap/4
B.7m/6


https://dl.doubtnut.com/l/_4lDlsP79x7rW
https://dl.doubtnut.com/l/_jmnJfFqE9TM9
https://dl.doubtnut.com/l/_HqmT4fEBtY6H

D.log3

° Watch Video Solution

1 1

[\
S
_|_

—

—_

Wl N w Wl W
~ N - T

>

—

S
o]
a

|

o
N
o
5
e N e N S et

+ 2n + 2 +

..........

° Watch Video Solution
10. Lt 1 + L + 1 =
Lty oo | 5=y 3y pg T i



https://dl.doubtnut.com/l/_HqmT4fEBtY6H
https://dl.doubtnut.com/l/_yInK2lrRp5fm
https://dl.doubtnut.com/l/_MBoVogwT3IUW

B.log(3/2)
C.log(4/3)

D. none

o Watch Video Solution

B.—1/2
c.1/2

D. none

-------

° Watch Video Solution



https://dl.doubtnut.com/l/_MBoVogwT3IUW
https://dl.doubtnut.com/l/_nC3sQK0gpY8g

B.1/2
Cc.1/3

D. none

---------



https://dl.doubtnut.com/l/_zQFxq8bcNRPx
https://dl.doubtnut.com/l/_KiCpXb6nGkZh

° Watch Video Solution

B.3

C.1/2

D.1/3

o Watch Video Solution

Al/2

B.1/5

C.1/10


https://dl.doubtnut.com/l/_KiCpXb6nGkZh
https://dl.doubtnut.com/l/_opLuQ9h6ClLL
https://dl.doubtnut.com/l/_8GpEePETrOer

D.1/15

° Watch Video Solution

16. Evaluate the limit .

Lt 1+2t 430+ ... +nt
n—00 n®

A. zero

B.1/4

C.1/5

D.1/30

o Watch Video Solution



https://dl.doubtnut.com/l/_8GpEePETrOer
https://dl.doubtnut.com/l/_GFEjfOe6gP4y
https://dl.doubtnut.com/l/_B89CTwqVy8O9

B. e+1

C.1-e

D. e-1

° Watch Video Solution

1 4

18. Lt +
n_woll—krﬁ 8 + n?

All 2
- 5 log

11 3
- glog

C 11 2
.Eog

Dll 3
- 5 log

.......

o Watch Video Solution



https://dl.doubtnut.com/l/_B89CTwqVy8O9
https://dl.doubtnut.com/l/_YvXGgcYvq1SN
https://dl.doubtnut.com/l/_9SWmptNKWJz6

o Watch Video Solution

20. By the definition of the definite integral, the value of

14 o4 34 n’
lim + + e T + —F
nwoo \ 1P 4 ps 224 nS 3 b n® + n

1
5

B112
- g lo8

Cll 2
- glog

A. —log2

D.log?2


https://dl.doubtnut.com/l/_9SWmptNKWJz6
https://dl.doubtnut.com/l/_TG7fueB7Ioyf

° Watch Video Solution

21'Ltn—>m{ﬁ+\/§+\/§+ ......... +\/ﬁ}
/i
A.O
B.1
c.2/3
D.3/2

° Watch Video Solution

22. Evaluate the limit.

i Vn+l+yn+2+........ +v/n+n
ng%o nyvn
2(2ﬁ—1)
A——

3


https://dl.doubtnut.com/l/_TG7fueB7Ioyf
https://dl.doubtnut.com/l/_mvsG3o3wjluA
https://dl.doubtnut.com/l/_ndBVfQbVFnJk

(v2 1)

(2\/5 + 1)

D. none

° Watch Video Solution

23.
\/n?—l2 Vn2 —22  /n? + 3
Lt, . 5 5 + 5 YT . +nterms| =
n n n
7r
A- Z
71'
B- E
71'
C. 3
2
D. T

o Watch Video Solution



https://dl.doubtnut.com/l/_ndBVfQbVFnJk
https://dl.doubtnut.com/l/_1kMBONNtLcHq

B. 27

Cm/2

D.3m/2

° Watch Video Solution

1

1
+ + —
vt +1 /n2 4+ 22 Vn? + n?

25.Lt, ., {

A.log(y/2 + 2)
B.log(v/2 — 2)
C.log(y/2 + 1)

D.log (/2 — 1)


https://dl.doubtnut.com/l/_BqC7AoAQRnIY
https://dl.doubtnut.com/l/_OhfRpnnALUtQ

° Watch Video Solution

26.
nl/2 nl/2 nl/2 nl/2
Lt,_ . + + + +
n3/2  (n 433 (n+6)*? {n+3(n—1)}?
Al/3
B.1/5
C.1/10
D.1/2
° Watch Video Solution
1 2
27. Lt, ., o —1 sin® - + sin? = 4 orreeeees + sin? n
n 2n 2n 2n

A.O


https://dl.doubtnut.com/l/_OhfRpnnALUtQ
https://dl.doubtnut.com/l/_LD39FCeEiYGa
https://dl.doubtnut.com/l/_puUVTmGPj8XF

B.1
C.1/2

D.2

o Watch Video Solution

28. Ltn%oo%[secz % + sec? 421_2 + o + sec? %
Ad/m
B.2/m
C.3/m
D.5/m

° Watch Video Solution



https://dl.doubtnut.com/l/_puUVTmGPj8XF
https://dl.doubtnut.com/l/_rUgHA0avf1iB

Lt 1 5 1 2 , 4 1,
29. —sec”. — + —sec”. — + ... + —sec” 1| =
n — 00 | n2 n? n? n? n

A. —secl
B. —cos ecl

C.tanl

° Watch Video Solution

. 1 2 n
30.Evaluate lim (14— |14+ —]) - - - (1 + _)
n— 00 n n n

B.1/e
C.4/e

D.8/e


https://dl.doubtnut.com/l/_RDi48EiFpisz
https://dl.doubtnut.com/l/_P1t5iohopdE5

° Watch Video Solution

31. Evaluate the limit .

, 1 22
lim 1+ — 1+ —1].........
n— 00 n? n?

1
14 n_)]
Ae(m=4)/2
B.2e(m™~4) /2
o(m—4) /2
C—
D.none
° Watch Video Solution
1/n
1 2)....3
32. lim ((n+ )(n2—|— ) n) is equal to
n— 00 n<n
18
A. ?
27
B. —



https://dl.doubtnut.com/l/_P1t5iohopdE5
https://dl.doubtnut.com/l/_0lLBDOM7nWc8
https://dl.doubtnut.com/l/_xdPeKoYI5yg8

D.3log3 — 2

° Watch Video Solution

EXERCISE 1E

1. The area bounded by y = z? + 2, X-axis, x=1and x=2 is

A.16/3
B.17/3
C.13/3

D.20/3

o Watch Video Solution



https://dl.doubtnut.com/l/_xdPeKoYI5yg8
https://dl.doubtnut.com/l/_kFwnqTAozKu5
https://dl.doubtnut.com/l/_mkDYEPEp2Brh

2. The area of the region bounded by the curve y = (132 + 2)2 + 2z
between the ordinates x=0 and x=2

A.436/15

B.208/3

C.236/5

D.340/13

o Watch Video Solution

3. The area, in square unit, of the region bonuded by the curve z? = 4y,
the line x=2 and the x-axis is

A1

B.2/3

Cc.4/3

D.8/3


https://dl.doubtnut.com/l/_mkDYEPEp2Brh
https://dl.doubtnut.com/l/_Y6FQBlJeJ2qa

o Watch Video Solution

4. The area (in square units) of the region bounded by z* = 8y, z = 4
and x-axis is

A2/3

B.4/3

Cc.8/3

D.10/3

o Watch Video Solution

3

5. The area of the region bonuded by the curve y = z°, x-axis and the

ordinates x=1, x=4 is

A. 255 /4


https://dl.doubtnut.com/l/_Y6FQBlJeJ2qa
https://dl.doubtnut.com/l/_JlkonHbY2a87
https://dl.doubtnut.com/l/_m1eohcsUqPHJ

B.155 /4
C.55/4

D. 355 /4

o Watch Video Solution

6. The area bounded by the curve y = 1+ 8/z% with x-axis and the
ordinates at x=2 and x=4 is

A2

B.3

C.4

D.5

° Watch Video Solution



https://dl.doubtnut.com/l/_m1eohcsUqPHJ
https://dl.doubtnut.com/l/_uOYtQjWVUWwf
https://dl.doubtnut.com/l/_dnf76Sx5yu8O

7. The area under the curve y = 2% — 3z + 2 with bonudaries as x-axis
and the ordinates x=0,x=3 is

A.3/8

B.2/3

C.3/6

D.23/3

o Watch Video Solution

8.The area bounded by the curve y = 4 — 22, y=0,y = 3is

A.28/3
B.32/3
C.13/6

D.23/3


https://dl.doubtnut.com/l/_dnf76Sx5yu8O
https://dl.doubtnut.com/l/_KUbaO0ykzcG1

° Watch Video Solution

9. The area bounded by the X-axis and the curve y = 4z — z? — 3is

Al/3
B.2/3
Cc.4/3

D.8/3

° Watch Video Solution

10. The area bounded by the parabola y = (z — 4)(z — 1) and X-axis is

A9/2
B.6/5

C.3/4


https://dl.doubtnut.com/l/_KUbaO0ykzcG1
https://dl.doubtnut.com/l/_DSS85KIBvfRo
https://dl.doubtnut.com/l/_X1tBKd4SNUeP

D.2/5

° Watch Video Solution

2
11. The area bounded by the curve y = % + %

with X axis in [0, 2]

N~

is

A1/5
B.3/5
C.3/4

D.2/5

° Watch Video Solution

12. The area of the region between z — y + 2 = 0 and the curve z = /3,

Y-axis is


https://dl.doubtnut.com/l/_X1tBKd4SNUeP
https://dl.doubtnut.com/l/_l5BztdMqX7Tx
https://dl.doubtnut.com/l/_6Cxwf6k82Txj

A9
B.9/2
C.10/3

D.none

° Watch Video Solution

13. The area enclosed between the curve y = log,(z + e) and the co-

ordinate axes is

Al
B.2
C.3

D.4

o Watch Video Solution



https://dl.doubtnut.com/l/_6Cxwf6k82Txj
https://dl.doubtnut.com/l/_39gKa5XB1QV0

14.The area of the region bounded by the curve y = sin, = x-axis and the
ordinatesx = 0,z = 7 /3is

Al/3

B.1/2

C.3/2

D.2/3

° Watch Video Solution

15. The area of the region bounded by the curve y = sinx, x-axis in

[0, 2] is

A 4

B.3

C.2


https://dl.doubtnut.com/l/_39gKa5XB1QV0
https://dl.doubtnut.com/l/_r3cvTAdkeUF3
https://dl.doubtnut.com/l/_uFNBY92ivM7I

D.1

° Watch Video Solution

16. The area bounded by the curve y = cos az in one arc of the curve is

A. 2a

B.1/a

C.2/a

D. 24>

° Watch Video Solution

17. The area under the curve y = sin2 + cos 2z and x-axis from x=0 to

z =m/4is


https://dl.doubtnut.com/l/_uFNBY92ivM7I
https://dl.doubtnut.com/l/_CWVX7Toh2Z2w
https://dl.doubtnut.com/l/_gkyPKmvlMNSW

A 4

B.3

C.2

D.1

° Watch Video Solution

18. The area bounded by the curve y = sinz, y = cos z and y-axis is

A /2
B.v/2+1
C.v2-1

D.v/2 +2

o Watch Video Solution



https://dl.doubtnut.com/l/_gkyPKmvlMNSW
https://dl.doubtnut.com/l/_GIS5wXcZ1zDw
https://dl.doubtnut.com/l/_9wTbA9FEVA2G

19. The area bounded by the curesy y = cosz and y = sinz between

) 3m |
the ordinates and z = - is

A 42— 2
B.4/2 + 2
C.4/2-1

D.4y/2 + 1

o Watch Video Solution

20. The line z = % divides the area of the region bounded by
s
y = sinz, y = cos & and x-axis (0 <z < E) into two regions of areas
Al and A2.Then A1§A2
A4:1

B.3:1

C.2:1


https://dl.doubtnut.com/l/_9wTbA9FEVA2G
https://dl.doubtnut.com/l/_0CnPgTfC6KsK

D.1:1

° Watch Video Solution

21. Area of the region bounded by y = |5sin x| from x=0 to = 4w and x-
axis is

A.10

B. 20

C.40

D. 80

° Watch Video Solution

22.The area bounded byy = cosz,y =z + 1,y = 0is



https://dl.doubtnut.com/l/_0CnPgTfC6KsK
https://dl.doubtnut.com/l/_bB5Mi6OzL83m
https://dl.doubtnut.com/l/_qNQJbsDd7sF2

A3/2
B.2/3
C.1/2

D.5/2

° Watch Video Solution

23.The ratio of the areas bounded by y = cos z, y = cos 2z between x=0

and ¢ = 7 /3 and the x-axis is

A.2\/§:4—\/§
B.1:2
C.1:1

D.3:1

o Watch Video Solution



https://dl.doubtnut.com/l/_qNQJbsDd7sF2
https://dl.doubtnut.com/l/_AMNCLjuNMIyu

24. The area of the region bounded by the curve y = tanz tangent

drawn to the curve at x = 7 /4 and the x-axis is

A.log2 — l
4
B. l10g§2 — l
2 4
C.log2 — 1
2
D.none

o Watch Video Solution

25. Area of the region bounded by the x-axis and curves
y=tanz(—7w/3<x<7/3) and y=cotz(w/6 < x <3w/2)is
A.log2

B.2log2

C.log/2


https://dl.doubtnut.com/l/_AMNCLjuNMIyu
https://dl.doubtnut.com/l/_QLdWBBq0DWSL
https://dl.doubtnut.com/l/_OQz6J0O6dZWp

D.none

o Watch Video Solution

26. The area bounded by the parabola # = 4 — 3* and the y-axis in
square units is

A.3/32

B.32/3

C.33/2

D.16/3

° Watch Video Solution

27. The area (in square units) of the region bounded by the curves

2x=y"(2) -1 and x=0


https://dl.doubtnut.com/l/_OQz6J0O6dZWp
https://dl.doubtnut.com/l/_oSQS4sNwV2Yy
https://dl.doubtnut.com/l/_mCD654JNFQrv

Al/3
B.2/3
C.1

D.2

° Watch Video Solution

28.The area of the region bounded by the curve y? = 4z, y-axis and the
lines y=1,y=3 is

A.28/3

B.32/3

C.13/6

D.23/3

o Watch Video Solution



https://dl.doubtnut.com/l/_mCD654JNFQrv
https://dl.doubtnut.com/l/_jwU7XtRlLal5

29. The area bounded by the curve z = y* 4 4y with y-axis is

A.28/3
B.32/3
C.13/6

D.23/3

° Watch Video Solution

30.The area bounded by z = 0,z = 6 + 5y — y?is

517


https://dl.doubtnut.com/l/_jwU7XtRlLal5
https://dl.doubtnut.com/l/_zXvIHlzR1J7N
https://dl.doubtnut.com/l/_jwtiq0kl4d4D

° Watch Video Solution

31. The area bounded by the curve y? = 4z and thelinesz =1,z = 9is

o 436
" 15

;208
-3

236

C.?

b, 340
" 13

° Watch Video Solution

32.The area bounded by y? =4z and y = 2z — 4is

A.9

B.5


https://dl.doubtnut.com/l/_jwtiq0kl4d4D
https://dl.doubtnut.com/l/_MzK6ng0Qssfd
https://dl.doubtnut.com/l/_EAmVUDpJntUp

C.4

D.2

° Watch Video Solution

33. The area of the figure
> =2cr+1landz—y—1=0is
A2/3
B.4/3
Cc.8/3

D.16/3

bounded

by

the

curves

o Watch Video Solution



https://dl.doubtnut.com/l/_EAmVUDpJntUp
https://dl.doubtnut.com/l/_t0IVgmZcCwnl

34. The area between the curve y*> = 9z and the line y = 3z is

Al/3
B.8/3
C.1/2

D.4/3

° Watch Video Solution

35. The polar of (a,0) w.r.t the parabola y2 = 4azx is

A. 8a?
B. 4a>
C.8%/3

D.4a*/3



https://dl.doubtnut.com/l/_I3QVBrLTz5af
https://dl.doubtnut.com/l/_D9mNQLOChdQn

| o Watch Video Solution

36. The area of region bounded by the curve y*> = 4az and the line
z =a(a > 0)is

A.2a%/3

B.a’/3

C.8a%/3

D.4a*/3

° Watch Video Solution

37. The area bounded by the parabola 2> = 4by and the double absissa
y=alis

al/2p8/2
3

pl/243/2
3

A 8

B.8


https://dl.doubtnut.com/l/_D9mNQLOChdQn
https://dl.doubtnut.com/l/_BRnbF3JgDLhk
https://dl.doubtnut.com/l/_pJeGfl7vl2OQ

al/2p3/2
3

pl/243/2
3

Cc.4

D.4

° Watch Video Solution

38. The area bounded by the curve z?

2?
3

"3
"3

5 16+/2a®
3

= 4ay and theliney = 2a is

o Watch Video Solution



https://dl.doubtnut.com/l/_pJeGfl7vl2OQ
https://dl.doubtnut.com/l/_nP3fFQhd6or6

39. The area contained between the curve zy = a?, the vertical line
z = a,z = 4a(a > 0) and x-axis is

A.a?log?2

B. 2a” log 2

C.alog?2

D. 2a log 2

o Watch Video Solution

40. The area bounded by the curve zy = 4, x-axis and the or dinates
xT=2,x =95Is
A 21 >
-2log 5
B.41 >
-4log 5

5
C.5log§


https://dl.doubtnut.com/l/_ff8Wpl5RMANa
https://dl.doubtnut.com/l/_UO738CEtSXOn

5
D. 3log 5

o Watch Video Solution

41.The area between the parabolas y? = 4az and z? = 4ayis

16a2
3

16a2
2

10a?
3

16a2
5

° Watch Video Solution

42.The area included between the parabolas y? = dax, z? = 4dbyis

A 16ab
3



https://dl.doubtnut.com/l/_UO738CEtSXOn
https://dl.doubtnut.com/l/_aoq4gfzAgybG
https://dl.doubtnut.com/l/_2XGEwFqO01x5

D. none

o Watch Video Solution

43. The area (in square units)
y?> = 4z and 2? = 4yin the plane s
A.8/3
B.16/3
C.32/3

D.64/3

bounded by

the

curves

° Watch Video Solution



https://dl.doubtnut.com/l/_2XGEwFqO01x5
https://dl.doubtnut.com/l/_GQepuyv199fU
https://dl.doubtnut.com/l/_EIR6vwVzzyyV

44.Find the area bounded between the curves y = 2%, y = NG

A1/3
B.8/3
c.1/2

D.4/3

° Watch Video Solution

45. The area of the region bounded by the curves

Y= 922 and Yy = 522 + 4 (in square units) is


https://dl.doubtnut.com/l/_EIR6vwVzzyyV
https://dl.doubtnut.com/l/_VsjY14jUX0cP

° Watch Video Solution

46. If the area bounded by the curves y = az? and z = ay?, (a > 0) is 3
sq. units, then the value of a is

A2/3

B.1/3

C.1

D.4

° Watch Video Solution

47.The area bounded by the curves y = =,y = z3 is

Al/4

B.1/6


https://dl.doubtnut.com/l/_VsjY14jUX0cP
https://dl.doubtnut.com/l/_3wCKvTKvLmln
https://dl.doubtnut.com/l/_skRQ7p8SMIHM

C.1/12

D.1/2

° Watch Video Solution

48.The area of the region enclosed by the curves y = z? and y = 22 is

A1/12
B.1/6

c.1/3

D.1

o Watch Video Solution



https://dl.doubtnut.com/l/_skRQ7p8SMIHM
https://dl.doubtnut.com/l/_42nQ2fRVpsc4

2

49, The area in square unit bounded by the curves y = 23, y = 2> and

the ordinates x=1, x=2 is
A 17/12
B.12/13
C.2/7

D.7/2

° Watch Video Solution

2

50.The area bounded by y=3xand y = z~ is

A.10

B.5

C.45

D.9


https://dl.doubtnut.com/l/_m7eXabqXK0MY
https://dl.doubtnut.com/l/_OQjVNa0K42jI

o Watch Video Solution

51. The area between the parabola y = z? and the liney = 2z is

A1/3
B.8/3
C.1/2

D.4/3

° Watch Video Solution

52.The area bounded between the parabolas 2 = L4

1 and z? = 9y, and

the straight liney = 2is

920+/2
A.T\/_



https://dl.doubtnut.com/l/_OQjVNa0K42jI
https://dl.doubtnut.com/l/_pgKA69l8pHns
https://dl.doubtnut.com/l/_F1WGMKT76ZHi

B.104/2

C.204/2

10+/2
D.Tf

o Watch Video Solution

53.The area bonuded by the curve z? = 4y and theline z = 4y — 2is

A.9/8
B.8/3
C.1/2

D.1/3

° Watch Video Solution



https://dl.doubtnut.com/l/_F1WGMKT76ZHi
https://dl.doubtnut.com/l/_zZ0kHnYBqJZQ

54. The area of the region bounded by
y=2l,y=2+2,z= —1and = 2is

A.9/2

B.8/3

c.1/2

D.1/3

° Watch Video Solution

55. The area bounded by the curve y = x> and the lines

y=3z,z =12 =3is
A9/2
B.8/3

C.1/2


https://dl.doubtnut.com/l/_UVfry1Jm6p5s
https://dl.doubtnut.com/l/_dN2kDeU8d9bl

D.10/3

o Watch Video Solution

56. The area (in square units) bounded by the curves
Yy = /z, 2y — = + 3 = 0, x-axis, and lying in the fir stquadrant is :

A.18

B.27/4

C.9

D. 36

° Watch Video Solution

57.The area enclosed between the curves y*> = z and y = |z| is


https://dl.doubtnut.com/l/_dN2kDeU8d9bl
https://dl.doubtnut.com/l/_9yJrXiGDQpk5
https://dl.doubtnut.com/l/_AmBXmjrtNXms

A2/3
B. 1
C.1/6

D.1/3

° Watch Video Solution

58.The area bounded by the curve y? = — landtheliney =z — 3is

A.9/3
B.8/3
C.1/2

D.10/3

o Watch Video Solution



https://dl.doubtnut.com/l/_AmBXmjrtNXms
https://dl.doubtnut.com/l/_gd9XzUld9RX5
https://dl.doubtnut.com/l/_ZvPUsrCBoS3I

59. The area (in sg. units) of the region described by

{(z,y):9y(2) <2z and y* < 2z and y > 4z — 1}

o Watch Video Solution

60. The area of the region bounded by the parabola (y — 2)® = & — 1,

the tangent to the parabola at the point (2,3) and the x-axis is

A.6

B.9


https://dl.doubtnut.com/l/_ZvPUsrCBoS3I
https://dl.doubtnut.com/l/_XaJBQlScih7W

D.3

o Watch Video Solution

6. The area of the region bounded by the curves
y=x+2y==z,2=0and z = 3is

A.4/3sq. unit

B.2/3 sq. unit

C.21/2sq. unit

D. 27 sq. unit

° Watch Video Solution

62. The area ( in square units) of the region bounded by

t=—lz=2y=x2>+1and y =2z —2is


https://dl.doubtnut.com/l/_XaJBQlScih7W
https://dl.doubtnut.com/l/_ooxnJR9qsPqO
https://dl.doubtnut.com/l/_1As3gLRJoO8w

A7

B.8

C.9

D.10

° Watch Video Solution

63. The area of the plane region
& +2y?> =0 and z + 3y®> = 1is equal to
A1/3
B.2/3
c.4/3

D.5/3

bounded by the

curves

o Watch Video Solution



https://dl.doubtnut.com/l/_1As3gLRJoO8w
https://dl.doubtnut.com/l/_bbdh21NokD1s

64. The area of the region bounded by the curve
VT + /¥ = y/a(z,y > 0) and the coondinate axes is

A. a?

B.a’/2

C.a’/3

D.a’?/6

° Watch Video Solution

65.The area bounded by the curves y = 3z — 2?2 and y =22 — zis

Al/3
B.8/3

c.1/2


https://dl.doubtnut.com/l/_bbdh21NokD1s
https://dl.doubtnut.com/l/_WSpEFME6Lw1P
https://dl.doubtnut.com/l/_qtXZrlxskaFT

D.4/3

o Watch Video Solution

66. The area in the first quadrant enclosed by the axis, the line z = y,/3
and the circle 22 + y* = 4is

Am/2

B.m/3

Cn/4

D.7w/6

° Watch Video Solution

67. The area common to the circle 2> 4+ y?> = 164> and the parabola

y2 = baz is


https://dl.doubtnut.com/l/_qtXZrlxskaFT
https://dl.doubtnut.com/l/_bnmYnjB33yDU
https://dl.doubtnut.com/l/_D81VptTEPTea

A 4a® (8w — /3)

4a® (47r + \/3)
3

4a? (87r . \/3)
3

B.

C

D. none

° Watch Video Solution

2
68. The area included between the parabola y = z— and the curve
a

= 8a’ is
Y (22 + 4a?)

>
S
[\
A~
Do
3
+

Wk Wk w|oo w|

0

Q

[\V)
/_\/:3\/_\

3

+
N~ N "



https://dl.doubtnut.com/l/_D81VptTEPTea
https://dl.doubtnut.com/l/_GKuegwOqcpVA

L T vvaldil vidcoO o01ution J

69. The area (in square units) of the region enclosed by the two circles

22 +y*=1and (zx —1)° +y® =1is

©  »

w3 w|‘;f’
Ty
ERVES

I
NN

N

o
wll;f w3

M |

° Watch Video Solution

70. The area ( in sq. units) of the region

{(:n,y):y2 > 2z and x2+y2 <Adz,z ZO,yZO} is

D[ o)
+
Wl w|N


https://dl.doubtnut.com/l/_GKuegwOqcpVA
https://dl.doubtnut.com/l/_Xg02VXOCD6Ic
https://dl.doubtnut.com/l/_oaXFBHpQz68Z

+

[ Y I T Y
Wk w|k

° Watch Video Solution

71.  The area ( in sq. units) of  the region

{(a:,y):y2 > 2z and 2% + y? < 4z, 2 ZO,yZO} is

A.7r—é
3
B.7r—§
3
22
.W—T
T 22
2 3

o Watch Video Solution



https://dl.doubtnut.com/l/_oaXFBHpQz68Z
https://dl.doubtnut.com/l/_5qd0bWQ6lL2D

2 2

x
72. Let AOB be the positive quadrant of the ellipse — + ?;—2 = 1 with
a

OA=a,0OB=b .

Then show that the area bounded between the chord AB and the arc AB

.. (m—2)ab
of the ellipse is ————

A.mab

B.(m — 2)ab

(m — 2)ab
2

. (m — 2)ab

4

C

o Watch Video Solution

73. Area of the region bounded by y = {z}, the x-axis and the ordinates

r=1z=2is

A.2

B.1


https://dl.doubtnut.com/l/_v7TFnM7cai7e
https://dl.doubtnut.com/l/_ibcoQc7gC6Du

C.1/2

D.none

° Watch Video Solution

74.The area bounded by the curves = y? and z =3 — 2% is

A3
B.4
C.1

D. 2

o Watch Video Solution



https://dl.doubtnut.com/l/_ibcoQc7gC6Du
https://dl.doubtnut.com/l/_caJMeuFXGxDp

75. The area of region bounded by the curve y?> = 2y — z and the y-axis
is

A.4/3sq.unit

B.2/3sq. unit

C.21/2sq. unit

D. 27 sq. unit

o Watch Video Solution

76.The area of the region bounded by a®y* = z* (a,2 — :1:2) is

A.a’/3
B.2a%/3
C.4a/3

D.none


https://dl.doubtnut.com/l/_qZ25Ur1VMrGM
https://dl.doubtnut.com/l/_BuDOJJG5Y2sg

° Watch Video Solution

77. Area of the region bounded by y = |z| and y = 2is

A4

B.2

c.1/2

D.1

o Watch Video Solution

78.The area between the curve y = 1 — |z| and x-axis is

A1/2

B.1


https://dl.doubtnut.com/l/_BuDOJJG5Y2sg
https://dl.doubtnut.com/l/_UhOR9lJUblGo
https://dl.doubtnut.com/l/_jey4X66pgqjt

c.1/4

D.1/3

° Watch Video Solution

79. The area of the region bounded by the curves
y= |z — 2|,z = 1,z = 3 and the x-axis is

A1l

B.4

C.3

D.2

o Watch Video Solution



https://dl.doubtnut.com/l/_jey4X66pgqjt
https://dl.doubtnut.com/l/_H138jHGxDUbK

80. Find the area enclosed with in the curve

[z + 1yl =1

A2

C.2v/2

D.4

° Watch Video Solution

x
81. The area bounded by % + |—'Z| = 1,wherea > 0andb > 0Qis

A.1/2ab
B.ab
C.2ab

D. 4ab


https://dl.doubtnut.com/l/_tCGXB2fhl1UZ
https://dl.doubtnut.com/l/_aYicPFcYnVhm

° Watch Video Solution

82. The area of the region bounded by the curves
y=|z—1] and y =3 — |z|is
A.2
B.3
C.4
D.1
° Watch Video Solution
8. The area of the region bounded by the curves

2

Tt is

y=2%and y =


https://dl.doubtnut.com/l/_aYicPFcYnVhm
https://dl.doubtnut.com/l/_KuTLxv4ZMad1
https://dl.doubtnut.com/l/_8g2GeN7YcaJJ

D27r
"3

o Watch Video Solution

84. The area of the region
y=-exlogx and y = log is
ex
N
4 e
B.e —-Ei
4
e
C. i 5
0.6 - L
4 4e

bounded

by

the

curves

° Watch Video Solution



https://dl.doubtnut.com/l/_8g2GeN7YcaJJ
https://dl.doubtnut.com/l/_TuqdNpuM2xm2
https://dl.doubtnut.com/l/_MHIHPHRli8JC

85. Area of the region bounded by y = e®, y = e ® and thelinex = 1is

Ae+1l/e
B.e —1/e
Cete 142
De+e ' —2

° Watch Video Solution

86. The area of the region bounded by the curves y = 2%,y = 2z — z*

and thelinesz =0,z = 2is

4
A 3log2 — —
og 3

3

log 2

=

log2
3
log 2

4
3
4
C. - =
3
4
3

+


https://dl.doubtnut.com/l/_MHIHPHRli8JC
https://dl.doubtnut.com/l/_CoTonoX4deJX

° Watch Video Solution

87. The area bounded by the curves y = logx,y = 2° and the lines

_1 _2'
T =,z =2is
1 5 3
A 4—+/2) — =log2+ =
10g2( \/_) 9 8 +2

B.10g2(4 — \/5) + ;

C 51 2+3
g8 E T Y
D.none

o Watch Video Solution

88. The area bounded by the curves y = ze®”, y = ze * and linexz = 1,is

2
A —
e

B.1—- —



https://dl.doubtnut.com/l/_CoTonoX4deJX
https://dl.doubtnut.com/l/_5AL0zXp3kkOv
https://dl.doubtnut.com/l/_6Jv2jeKcUXQZ

° Watch Video Solution

89. If x=a divides the area bounded by x-axis, part of the curve

y = 1+ 8/z? and the ordinates z = 2, z = 4 into equal parts then a=

A2

B.2/+/2
C.1/4/2
D.2+/2

o Watch Video Solution



https://dl.doubtnut.com/l/_6Jv2jeKcUXQZ
https://dl.doubtnut.com/l/_ZOANYYLnO7Hs

90. The area bounded by the curve y = z(z — 1)2, y-axis and the line y=2
is

A.10/3

B.5/3

C.20/3

D.none

o Watch Video Solution

91. The area bounded by the circle 22 +y? =a’and thelinez +y=a

in the first quadrant is

A (1 — 2)a®

(7 — 2)a?

NG

B.


https://dl.doubtnut.com/l/_eyP3xS5HlEWL
https://dl.doubtnut.com/l/_nQhlmI2y8NgX

o Watch Video Solution

92. If area bounded by the curves y* = dax and y = mz is a2/3 then

the value of mis

A2

C.1/2

D. none

° Watch Video Solution

93. The parabolas y? = 4z, 2% = 4y divide the square region bounded by

the lines x = 4,y = 4 and the co-ordinate axes. If 57, Sy, S3 are respectively


https://dl.doubtnut.com/l/_nQhlmI2y8NgX
https://dl.doubtnut.com/l/_JEAWimckTTjh
https://dl.doubtnut.com/l/_fOXIforpxfZ8

the areas of these parts numbered from top to bottom then S;: S5: S5 is

Al:2:1

B.1:2:3

C.2:1:2

D.1:1:1

° Watch Video Solution

94. The area of the region enclosed by the curves y =z, = e,y = =
and the positive x-axis is

A.3/2 square units

B.5/2 square units

C.1/2 square units

D. 1square units



https://dl.doubtnut.com/l/_fOXIforpxfZ8
https://dl.doubtnut.com/l/_WMoN1Fwz7Nys

I ° Watch Video Solution

EXERCISE 2 (SPECIAL TYPE QUSTIONS) CHOOSE THE CORRECT ANSWER FROM

THE ALTERNATIVES 1,2,3 OR 4 GIVEN (SET-1)

V3/3 dx T
1./ _de T
VZ/3 /4 —9z2 36

1 1 T 1
[ ———de = — + >
-1 (14 z?) 4 2
A.only lis true
B.only Il is true
C.both I and Il are true

D. neither | nor true

° Watch Video Solution



https://dl.doubtnut.com/l/_WMoN1Fwz7Nys
https://dl.doubtnut.com/l/_ycvLtRCulOdx

2.I:/ \/a2 — z%dz = ma®
0

w/4
Il :/ (tan4ac + tan® m)d:c =1
0

A.only lis true
B.only Ilis true
C.both I'and Il are true

D. neither | nor true

o Watch Video Solution

8

w/2
3.1: in® Spdr = —
\/O' Sln- * COS raxr 693

| /”/4 singxd 1

: —dr = —
0 cos!l 10
A.only lis true

B.only Il'is true

C.both I and Il are true


https://dl.doubtnut.com/l/_4Dey1oODwk7t
https://dl.doubtnut.com/l/_GUIISJ2sjSRS

D. neither | nor true

° Watch Video Solution

2 2
1
Il :/ rtan ! zdr =
0

w/2
4.I:/ (2ta,n£—|—acsec2 i)daU:w
0
s 1
4 2
A.only lis true
B.only Il'is true

C.both I and Il are true

D. neither | nor true

° Watch Video Solution



https://dl.doubtnut.com/l/_GUIISJ2sjSRS
https://dl.doubtnut.com/l/_MUjaazIvxaW9

m/2 veot x T
5.1: de = —
0 Vtanz + +/cot T 4
/2 9¢inz + 3cos T
Il d
0

_ T
sinx + cosx 4

A.only lis true

B.only Il is true

C.both I and Il are true

D. neither | nor true

o Watch Video Solution

6.1 : The area, in square unit, of regin bounded by the curve 2> = 4y the
line x=2 and the x-axis is 2 /3 sq. unit.
Il : The area (in square units) of the region bounded by z> = 8y, z = 4

and x-axis is 8 /3 sq. unit.

A.only lis true


https://dl.doubtnut.com/l/_77xc4cnyoinv
https://dl.doubtnut.com/l/_kX8M1XGqgbOT

B.only Il is true

C.both I and Il are true

D. neither | nor true

o Watch Video Solution

EXERCISE 2 (SPECIAL TYPE QUSTIONS) CHOOSE THE CORRECT ANSWER FROM

THE ALTERNATIVES 1,2,3 OR 4 GIVEN (SET-2)

4.5

3
1. If a, b, c are the values of / [z]d, /
0 0

2
[m]da:,/ [%]dz then the
5 0

ascending order of a,b, c is
A a,b,c
B.b,c, a
C.c,a,b

D.a,c,b


https://dl.doubtnut.com/l/_kX8M1XGqgbOT
https://dl.doubtnut.com/l/_l5CMYQiH5BNc

° Watch Video Solution

w/2 w/2 w/2
2. If a,b,c are the values of / sin mda:,/ sin® mda:,/ sin® z
0 0 0
dx then the ascending order of a,b, cis
A a,b,c
B.b,c,a
C.c,a,b

D.c, b, a

° Watch Video Solution

3. If a, b, C are the values of

w/2 w/2 w/2
/ cossa:dcc,/ cos7zda:,/ cos? zdx then the descending
0 0 0

order of a, b, c is


https://dl.doubtnut.com/l/_l5CMYQiH5BNc
https://dl.doubtnut.com/l/_F0ZVjaNlYXTk
https://dl.doubtnut.com/l/_19v9UcG5REZw

A.a,b,c

B.b,c,a

C.c,a,b

D.a,.,b

° Watch Video Solution

w/2 T 27
4. If a, b,c are the values of / sin® a:d:n,/ sin® zdz, / sin® zdz
0 0 0

then the ascending order of a, b, c is

A.a,b,c
B.b,ca
C.c,b,a

D.a,c,b

° Watch Video Solution



https://dl.doubtnut.com/l/_19v9UcG5REZw
https://dl.doubtnut.com/l/_zQnV88ehO4ST

w/2 T 2
5. If a, b,c are the values of / sin® azdm,/ sin® xdw,/ sin® zdz
0 0 0
then the ascending order of a, b, c is
A.ab,c
B.b,c,a
C.¢,b,a

D.a,,b

° Watch Video Solution

EXERCISE 2 (SPECIAL TYPE QUSTIONS) CHOOSE THE CORRECT ANSWER FROM

THE ALTERNATIVES 1,2,3 OR 4 GIVEN (SET-3)



https://dl.doubtnut.com/l/_zQnV88ehO4ST
https://dl.doubtnut.com/l/_WoFwdPdZ3in0

1. Match the following.

I [7?T=cos2adz = (a)
II f’f/wmdx: (b) V2
111 fO (c)

1 log 2

o[ %dw = (d) Llog2
A a,b,c d
B.b,cad

C.b,ad,c

D.c,d,b,a

° Watch Video Solution

EXERCISE 2 (SPECIAL TYPE QUSTIONS) CHOOSE THE CORRECT ANSWER FROM

THE ALTERNATIVES 1,2,3 OR 4 GIVEN (SET-4)



https://dl.doubtnut.com/l/_xgOqZTNyKZgM

1.A:/7r/2 sinz de = =
0 \/sin:c + y/cos T 4
f(sinx) ™

R: / dr = —
f(sinz) + f(cosx) 4

A.Both A and R are true R is the correct explanatino of A

B.Both A and R are true but R is not correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

o Watch Video Solution

A:/”/2 5tanm—3cotmd .om R:/F/z atanm+bcotmdx:(
0 0

x
tanz + cot 2 tanx + cot x
A.Both A and R are true R is the correct explanatino of A

B.Both A and R are true but R is not correct explanation of A

C.Ais true but R is false


https://dl.doubtnut.com/l/_mjNg8tCQVzyU
https://dl.doubtnut.com/l/_YP7ITTApxX2r

D. Ais false but R is true

o Watch Video Solution

1007

3.A: /T = cos2zdz = 200+/2.

0

f(x) is a periodic function with period a then
/ sl = [ 1t
A.Both A and R are true R is the correct explanatino of A
B.Both A and R are true but R is not correct explanation of A
C.Ais true but R is false

D. Ais false but R is true

o Watch Video Solution



https://dl.doubtnut.com/l/_YP7ITTApxX2r
https://dl.doubtnut.com/l/_AhUW73tjuBSV

w/2 16
4.A:/ sin’ zdx = —
0 35

“/z,n n—1 n—3 n-—25
R: sin zdxr = .
0

n

—.1lifnis odd.
3

A.Both A and R are true R is the correct explanatino of A

B.Both A and R are true but R is not correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

o Watch Video Solution

w/4
S.A:/ (ta,nﬁzz:+ta,n4:13)d:c—
0

w/4 1
R:/ (tan”x+tan”_2x)da:
0

A.Both A and R are true R is the correct explanatino of A

B.Both A and R are true but R is not correct explanation of A

C.Ais true but R is false



https://dl.doubtnut.com/l/_QJV75QHLCtgi
https://dl.doubtnut.com/l/_TiIrKl0KtO89

D. Ais false but R is true

o Watch Video Solution

w/3

dx
6. Statement | : The value of the integral / ——  is equal to
r/6 1+ +/tanz
™
6

b b
Statement Il : / f(z)dz = / fla+b—2x)dx

A.Both A and R are true R is the correct explanatino of A
B.Both A and R are true but R is not correct explanation of A
C.Ais true but R is false

D. Ais false but R is true

o Watch Video Solution



https://dl.doubtnut.com/l/_TiIrKl0KtO89
https://dl.doubtnut.com/l/_LDsphQNshHYE

7.A: The area of the region bounded by y* = 4z, 2% = 4yis 16/3
R: The area of the region bounded by 4> = 4az, z* = 4byis 16ab/3
A.Both A and R are true R is the correct explanatino of A
B. Both A and R are true but R is not correct explanation of A
C.Ais true but R is false

D. Ais false but R is true

o Watch Video Solution

8.A: The area of the ellipse 92 + 4y® = 36 is 6 sq. uint.

R: The area of the ellipse 2% /a® + y* /b* = 1is mab sq. unit.
A.Both A and R are true R is the correct explanatino of A
B.Both A and R are true but R is not correct explanation of A

C.Ais true but R is false


https://dl.doubtnut.com/l/_xOSRRraW9fZY
https://dl.doubtnut.com/l/_7ztVdZaIZ5T4

D. Ais false but R is true

° Watch Video Solution



https://dl.doubtnut.com/l/_7ztVdZaIZ5T4

